Micro Economics
’Demamf,Suﬂpfy & fqui(iﬁm’um

Demand (ATT):-Demand refers to the quantity of a good or service that

consumers are willing and able to purchase at various prices during a given
period of time.
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Demand function
Q=1 (PY,Pr, T&P, Season & Climate etc.)

Determinants of Demand (‘lT‘T a?ﬁ'ﬂ'i'{?ﬁ):

1. Price of the Good (T& T )

O When the price of a good changes, the demand generally decreases (if the price
increases) or increases (if the price decreases).
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2.  Income of the Consumer (BTI"ﬂTHT E) J):

O Higher income leads to greater demand for normal goods, while demand for inferior
goods may decrease.

3T T T TEG3AT DT AT STl &, STelds SedT aEG3Tl Pl 7T = el 8
3. Prices of Related Goods ('Haﬁlﬂ' ?Rﬂaﬁ BT HA):

O Substitutes (I%JWCD: Price increase in one good raises demand for its substitute.
O Complements (I%): Price increase in one good reduces demand for its complement.
faae aegetl ® U v & Ao | Jfe 39 fadhed B AT Ie1d1 2 |
X TGAT W T I b W H gl I8P e Pl AT =Tl €|
4. Tastes and Preferences (FEPJT I ‘JITalﬁﬁTf{):

O Consumer preferences greatly affect demand.

SUMTRT BT BT I Bl ST WMo a8 |
5. Population and Demographics (FEE K 114 i)

O Larger populations increase demand for goods and services.

LT STHEEAT It 3R Fareif & AT Terdi 2 |



Types of Demand

Demand refers to the quantity of a good or service that consumers are willing and able to purchase
at a given price during a specific period of time.
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1. Price Demand (&I HiT)

Definition: The relationship between the price of a good and the quantity demanded, assuming
other factors remain constant.
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*  Example (3Q18%09T): When the price of apples decreases, consumers buy more apples.
ST9 T I P Tl &, ITTRIT AT T Tligd &

2. Income Demand (31X 1=I'i“'T)

Definition: The relationship between a consumer’s income and the quantity of goods demanded,
keeping other factors constant.
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*  Example (32TgY0T): As income increases, the demand for luxury goods rises.

3T & TR fIeTTiar &1 aqaii Bl 7T e 2|

3. Cross Demand (19 1=I'i"T)

Definition: The demand for a commodity as a result of a change in the price of a related good, such
as a substitute or complement.

QRATST: Ueh 5] 1 AT H SeATd ohaT Feiterd &g (et a1 qXa) &1 BIHd H SeeTd 3 TRUTHEST
T2

Example (32TgY00): A rise in tea prices may increase the demand for coffee.
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4. Joint Demand (ST i)

Definition: The demand for two or more goods that are used together to satisfy a particular need.
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*  Example (32T80T): Bread and butter are jointly demanded goods.
% 3R AR TP B I A STH a7t TEQ 2 |



5. Composite Demand (FJe i)

Definition: When a commodity is demanded for multiple uses.

QIRATST: 767 Topel I 1 HiTT 8 SUAT & foTg I ATl 21

*  Example (3QT8¥07): Sugar is demanded for making sweets, tea, and other products.
T b1 7T fHeTS, I 31K 31 IATET & foiT &1 ST B

6. Derived Demand (4= HIT)

Definition: The demand for a good that arises due to the demand for another good or service.
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. Example (3318¥07): The demand for steel is derived from the demand for automobiles.

STTA T HT ARHISTSH Pl 11T H I el 2
The Law of Demand (HT‘T Wﬁ'ﬂ'q)

Statement (FEW &1 H2F):

There is an inverse relationship between the price of a good and its quantity demanded, ceteris
paribus (all other things being equal).

Topet a%q 3 oo 3TR ITh! HT TS AT o ol okl Tee Bra €, 3171 Tt a1d T B W
Graphical Representation (Ifh® ‘JR@E[):

. The demand curve slopes downward from left to right, indicating the inverse relationship.

o I TS AR Y 1S 3TN A1 T 3R TAdT &, ST fauiid GaeT &l 2MidT 2|
Exceptions to the Law of Demand (FIT'T EACRLES A1)

1. Giffen Goods (FT% TqQ):

O As price increases, demand also increases due to strong income effects.

o & TR AT H Sigdl & 91T 3119 UMTa I8 Fetgd 2idT 2 |
2. Veblen Goods (9 TEY):
O Higher price increases demand because of their status symbol appeal.
37T HoI HITT TTdT & R iTeh & TSI & Uel1eh ald |
3. Necessities (IR ?I'ij{):

O Demand for essentials like medicines does not decrease even with higher prices.

2Tl ST TSI TEIRTT bl AT Hodd I W HI &1 &1 &rdl|




Movement along the Demand Curve ('FI'I"T W%W‘Tﬁ)

*  Definition: Movement along the demand curve refers to a change in the quantity demanded
of a good or service due to a change in its own price, while all other factors affecting
demand remain constant.

Movement Along the Demand Curve

0 92 q qi
Quantity (in Units)

*  Explanation:

o  When the price of a good falls, the quantity demanded increases, leading to a
downward movement along the demand curve (from left to right).
o Conversely, when the price rises, the quantity demanded decreases, leading to an
upward movement along the demand curve (from right to left).
. Example:

o IfE fordt a5 &1 BIva Tedl €, 1 7T bl AT ¢ ST €, 3R A BIvd gt €, df 7iv &
HET 52 ST 21

e Key Point: A movement along the curve does not shift the demand curve itself; it’s simply a
change in the quantity demanded due to a price change.



Shift in the Demand Curve (AT Tt6 H SEAT)

e Definition: A shift in the demand curve refers to a change in the quantity demanded of a
good or service at every price level, caused by factors other than the good's price (such as
income, preferences, prices of related goods, etc.).

’”

>

S
VR

:-':—p I B 5
. A\
& M
L
D, |
e e— _-‘»-_-.E — X
L G e

Quantity Demanded

(30 units)

*  Explanation:

o  When demand increases due to factors like higher income or favorable changes in
tastes, the demand curve shifts to the right.
o  When demand decreases due to factors like lower income or adverse changes in
tastes, the demand curve shifts to the left.
*  Factors that cause a shift in the demand curve:

o Income: Higher income increases demand (shift right), and lower income decreases

demand (shift left).
o  Tastes and Preferences: A change in consumer preferences can shift demand in

either direction.
o  Prices of Related Goods: The demand for a good can change with changes in the
price of substitutes or complements.
o  Expectations: If consumers expect future prices to rise, current demand may
increase (shift right).
. Example:

o 3R IUMIERITST & 3T el &, dl 37 &RT a%g P! /T H Il &1 b &, s w1t as6
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Importance of the Law of Demand (‘IT‘T aaﬁwzsmga):

1. Price Determination (et Trizom): Helps in setting equilibrium prices in the market.
TR B Tt Jo Frifd & o Heg w2

2. Business Decisions (T8 f0id): Guides businesses in production and pricing strategies.
T Bl IATET 3R o FioT WHAaaT o ATieei 2ar €1

3. Policy Formulation ifa fmioT): Useful in forming policies related to subsidies, taxes, etc.
TfedSt, T 3Mfe § Feiferd i s & o

Elasticity of Demand (AT B )

Elasticity of demand refers to the degree of responsiveness of the quantity demanded of a good to a
change in one of its determinants, such as price, income, or the price of related goods.

HITT <Y e BT 37ef 2 foRet aq T AT T WA H 36 W IMTE STl a1l BRI (S HIFd, 371, AT
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Types of Elasticity of Demand (HITT &1 #iiel % UehR):

1. Price Elasticity of Demand (¢ ¥I):

o It measures the responsiveness of demand to changes in the price of the good.

o V&I TR HIT H 38 URad Bl AT & ST febeT a&g bl bIad H SelTd & PHROT 2T 2|
2. Income Elasticity of Demand (31T @=I):

o0 It measures how demand changes with a change in consumers' income.

o T I AT & T ITvYeraTait Bl 311 B IgeATd & HiT B PTHIA Bhelt 21
3. Cross Elasticity of Demand (TR &)

o It measures the responsiveness of demand for one good to the change in the price of
another good.

0 AR A YA & b Ueb I%g bl PIHd H I3alTd & UL a&] Bl 71T B I3aTd! €|

Formula for Price Elasticity of Demand (& Fﬁﬂ?ﬁ'{:ljf):

Ed =%AQd/ % AP% —it is also known as %age Methods
Where: Ed : Price elasticity of demand (W @1 Hed i)

«  AQd : Change in quantity demanded (/T H gRerd)
«  AP: Change in price (IHd H qRad)




Example (33T8{07):

If the price of a product increases by 10% and its demand decreases by 20%, the price elasticity of
demand is:

Ed =d20%/d10% = -2
(Elastic demand; AT @IGg I%)I

Income Elasticity of Demand

Definition (English):

Income Elasticity of Demand measures how the quantity demanded of a good changes in response
to a change in consumer income. It is calculated as the percentage change in quantity demanded
divided by the percentage change in income.

Formula:

Ey =% Al%AQ/% Al
Where:Ey = Income Elasticity of Demand

*  %AQ = Percentage change in quantity demanded
* %Al = Percentage change in income
Types of Income Elasticity:

1. Positive Elasticity (Ey >0): Demand increases as income increases (Normal goods).
2. Negative Elasticity (Ey <0): Demand decreases as income increases (Inferior goods).
3. Zero Elasticity (Ey =0): Demand is unaffected by changes in income.

3T Y /T A (Income Elasticity of Demand)

Wﬁ"ﬂm(ﬁﬁ): ‘
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Ey =%A1%AQ
STel: By = 311 @l /T o

o BAQ =HTT B HET A ufdwrd afed
o DAl = T H gdoTd gRadd
3T B | Al &6 UBR:

1. HHEREE e (Ey >0): 3T S T A ded! & (AR V) |
2. THRIAS @™ (Ey <0): 3T 97 T AT F2dl € (R o qu) |
3. IR (Ey =0): 3 H YR BT 7T W BIE T9TG 7l 2Tl



Cross Elasticity of Demand

T T IR &=

Cross elasticity of demand measures how the quantity demanded of one good changes in response
to a change in the price of another good. It indicates whether the goods are substitutes,
complements, or unrelated.

T BT TREAE W TE HIYAT & Toh Geh areq oY HiT /i o FepeT it ot o <t chiwa
i % HROT AT 21 T I8 F9rian & o6 aeg foeea €, qees €, o srsfoa €1

Formula / §3:

Exy =%AQx/ %APy
Gl%'i‘:Exy : Cross elasticity of demand (AT T URE R i)

*  %AQx : Percentage change in quantity demanded of good X (9&] X &1 71T HET H wfaerd
qiRerd )
*  %APy : Percentage change in price of good Y (95 Y P BHd H gfderd aRed)

Types of Cross Elasticity:

1. Positive Cross Elasticity (Substitute Goods)

o  When the price of one good rises, the demand for its substitute rises.
o  SIATEIUT: TY 3N PG|
o E.g.,Tea price increases — Coffee demand increases.

2. Negative Cross Elasticity (Complementary Goods)

o  When the price of one good rises, the demand for its complement falls.
o  IETET: BN AR UL
o E.g., Car price increases — Petrol demand decreases.

3. Zero Cross Elasticity (Unrelated Goods)

o  No relationship between the goods.
o  IITET: AT AR I |
o E.g.,Price of soap has no effect on rice demand.

Key Applications / &I SUANT:

Business pricing strategies (FHT He FaiRor WHId=M)
«  Market competition analysis (ISR Ffceqef fagersmr)
Identifying substitute and complementary goods (feiehe 3R QX TETAT DI qEI)




Degree of Elasticity of Demand

The degree of elasticity of demand refers to how much the quantity demanded of a good responds to
a change in its price.

HIT <l e <Y ot
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Types of Elasticity of Demand

1. Perfectly Elastic Demand (ED = )
Even a small change in price leads to an infinite change in quantity demanded.
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T o &S T ISATd T WM Bl AHT H 3Fd I8elTd eidT 2|

Ed= =

e [ o | IR e ——
>

O
-npb------.
&

2. Perfectly Inelastic Demand (ED = 0)
Quantity demanded remains unchanged irrespective of price changes.
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3. Relatively Elastic Demand (ED > 1)
Percentage change in quantity demanded is greater than the percentage change in price.
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4. Relatively Inelastic Demand (ED < 1)
Percentage change in quantity demanded is less than the percentage change in price.

ATYeT & ¥ A& AT (ED < 1)
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5. Unit Elastic Demand (ED =1)
Percentage change in quantity demanded is equal to the percentage change in price.
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Methods of Measurement of Elasticity

1. Percentage Method (Wfdera fafer)

2. Total Expenditure Method (Pt = fafe)

This method examines the relationship between changes in price and total expenditure to determine
elasticity.

Observation:

«  If price and total expenditure move in opposite directions, demand is elastic ()|
«  If they move together, demand is inelastic (3|
If total expenditure remains unchanged, demand is unitary elastic (®Te @) |

3. Point Method (fsig faifel)

This method is used to measure elasticity at a specific point on a demand curve.
Formula:

Ed =Lower Segment of the Demand Curve/ Upper Segment of the Demand Curve:
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4. Arc Elasticity Method (I & fafer)

Arc elasticity measures elasticity between two points on a demand curveFormula:

Cuantity Demanded

Arc Elasticity



Ed =AP-(Q1 +Q2 )AQ-(P1 +P2)
Q1 ,Q2 = UR¥e 3R 3ffaw 7

5. Revenue Method (ST ﬁﬁ)

This method examines how revenue changes with a change in price.

. Elastic Demand: Price decrease leads to revenue increase (Fﬁﬁ?fﬁ M|

. Inelastic Demand: Price decrease leads to revenue decrease (3Tc_f|?ﬂ<—fﬁ M)
e Unitary Demand: Price change does not effect Revenue.

Supply (“Tiﬁ)

Supply refers to the quantity of a good or service that producers are willing and able to sell at
different prices over a given period of time.

Definition:

e Economic Supply is the amount of a product that producers are willing to sell at various
prices during a specific period.
Supply Curve (sﬂT‘{ﬁ qeh):

e It typically slopes upward from left to right, showing a direct relationship between price and
quantity supplied. As the price of a good rises, producers are willing to supply more of it.

Prica
N W & O

0 70 20 30 40 50 60 >
Quantity Suppied NeMBA com

Law of Supply (31gfd <t fram)

The Law of Supply states that all else being equal, the quantity supplied of a good or service
increases as the price rises, and the quantity supplied decreases as the price falls.

Explanation:

e When the price of a good increases, producers are more willing to produce and sell more,
leading to an increase in supply.
*  Conversely, when the price falls, producers reduce the quantity supplied.



Mathematical Representation (‘Tﬁl?ﬁ'q arfﬁmﬁ):

e The supply curve can be represented as:
S =f£(P)
where S is the quantity supplied and P is the price.

Factors Affecting Supply (ﬂl’ﬁ[ﬁ I YT HA a1 ded):

Price of the good (ATeT iﬁ'iﬁﬂﬂ)
Cost of production (SUTST T A1)
Technological advancements @Eﬁﬁiﬁ ﬁﬁkﬂ'{)

Government policies (BT '*ﬁﬁl'ﬂf)
Expectations of future prices (vrﬁw W Al Bl 3AY&TT)

Nk v

Movement Along the Supply Curve and Shift in the Supply Curve
1. Movement Along the Supply Curve

A movement along the supply curve refers to the change in the quantity supplied of a good due to a
change in its price, while other factors that affect supply remain constant.
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*  Reason for Movement: A change in the price of the good itself.

»  Effect: As price increases, the quantity supplied increases, and as price decreases, the
quantity supplied decreases. This is because suppliers are willing to produce more at higher
prices due to higher potential profits.

*  Direction:

o Upward Movement: When the price increases, the quantity supplied increases
(rightward movement along the curve).
o Downward Movement: When the price decreases, the quantity supplied decreases
(leftward movement along the curve).
Example:

e  If the price of a smartphone rises, manufacturers may increase production to take advantage
of higher profits, leading to a movement up along the supply curve.



2. Shift in the Supply Curve

A shift in the supply curve occurs when there is a change in factors other than the price of the good
itself, such as technology, input prices, or government policies, leading to a change in the overall
supply of a good or service.
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e Reason for Shift: A change in any factor other than the price (e.g., production technology,
input costs, government regulations, or environmental factors).

e  Effect: The supply curve shifts either to the left or right, depending on whether the change
increases or decreases supply.

*  Shift to the Right (Increase in Supply): When there is an improvement in factors like
technology or a decrease in production costs, more goods are supplied at every price level.
This results in an outward shift of the supply curve.

e Shift to the Left (Decrease in Supply): When production becomes more expensive, or
external factors reduce the ability of suppliers to produce goods, the supply curve shifts
inward, indicating a decrease in supply at every price level.

Example:

*  Rightward Shift (Increase in Supply): A new technological advancement reduces the cost
of producing cars, causing manufacturers to produce more cars at each price point. This
shifts the supply curve to the right.

. Leftward Shift (Decrease in Supply): A rise in the cost of raw materials (like steel for cars)
leads to a decrease in the quantity of cars that can be produced at each price level, shifting
the supply curve to the left.

In Hindi:

1. GIT{E[ Teh W TTid (Movement Along the Supply Curve)
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2. ATYfd ek W AT (Shift in the Supply Curve)
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Elasticity of Supply

Elasticity of Supply (Es):

Elasticity of supply refers to the responsiveness of the quantity supplied of a good or service to a
change in its price. It measures how much the quantity supplied changes when there is a change in
the price of the good.



Formula for Elasticity of Supply:

Es =% change in quantity supplied/% change in price

Es >1 — Elastic Supply: Quantity supplied changes more than the price change.

Es =1 — Unitary Elastic Supply: Quantity supplied changes exactly in proportion to the
price change.

Es <1 — Inelastic Supply: Quantity supplied changes less than the price change.

Es =0 — Perfectly Inelastic Supply: Quantity supplied does not change regardless of price
change.

Es = — Perfectly Elastic Supply: A very small change in price leads to an infinitely large
change in quantity supplied.

Factors Affecting Elasticity of Supply:

1. Time period: Supply is more elastic in the long run as producers have more time to adjust.
2. Production flexibility: Goods that can be produced easily with fewer resources tend to have
more elastic supply.
3. Availability of factors of production: If all factors of production are readily available,
supply is more elastic.
4. Storage capacity: If goods can be stored easily, supply is more elastic.
Examples:

Elastic supply: Manufactured goods like mobile phones, where companies can quickly
adjust production levels.

Inelastic supply: Agricultural products, where supply is limited in the short run due to fixed
land and weather conditions.

Hindi Version:

Yf < AT (Elasticity of Supply):

ST BT AT 2T ST € o Toh aeq a1 Fam by 3mgfd & febeT wfafma 2t & e Saeht Ha &

AT BT &1 TE AT € fob B & sIeetTa 3 IRoTaEasy 3y 1 T fd-T sged 2|

MY Y AT BTG

cC ° o SR o Q .
Es=9% 3TYfd # GRead/%HHd | gfiadd, if

Es >1 — wTeltelt SMmgfd: Syfd &1 qm & v § geera 4§ aifee aRad € 2|

Es =1 — TebTceh eTelielt 3TYfd: SATYf &l 7r= iad & geerd 3 360 geeid] 2|

Es <1 — rcreiiet SMmafd: amqfd b1 46 & HAd § seera § o7 giad T 2|

Es =0 — Wqut JqRad-a mafd: Hia § et € W SA1gfd & a1 & 61 e Tel il
Es =00 — HqUl eTelielt ATgfd: v & agd B2 gera & TYfd b1 76T § 3 gRed 2ar 2|
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Equilibrium (HdeH)
The state where the quantity demanded equals the quantity supplied at a given price. This price is
called the equilibrium price, and the corresponding quantity is the equilibrium quantity.

(@8 Teifar STar | <Y /=T STy <hY /TS o SRIeR BNl 81 9 BT o T Hod el ST € 31X Heiferd
CIEIGARSGGERIEIND

Example: Demand, Supply & Equilibrium Analysis

Consider the following linear demand and supply functions:

. Demand Function: Qd =100-2P
*  Supply Function: Qs =20+3P
Where:

*  Qd is the quantity demanded,
* Qs is the quantity supplied,
*  Pisthe price level.
To find the equilibrium price and quantity:

1. Qd=Qs.
2. Solve for P
P (Equilibrium Price).

3. Substitute P into either the demand or supply equation to find Q (Equilibrium Quantity).

Hindi Explanation (ﬁ?& ATEAN):

T 3R 3gfd % FefefEd Y@ (Linear) @Hieor &g mo &:

o T T AHIHIOT (Demand Function): Q
Qd =100-2P

. ﬂT{ﬁ T AHIBLIT (Supply Function): Q
Qs =20+3P



Solution (HHTHTT):

1. Equating demand and supply:
100 - 2P =20 + 3P

100-2P=20+3P
Simplify:

100 - 20 =3P + 2P

100-20=3P+2P

80 =5P

80=5P

P=16
Q=100-2(16)=100-32=68

Equilibrium

—_—

Supply &

Effect of increase in supply

Decrease in Demand = Decrease in Supply

Effect of increase in demand

A D,
s
D
_ —>"
»
£ P, E
g
= P E
a
K,
S D
0 )

Quantity Demanded and Supplied
(in Units)

Increase in Demand=increase in supply




Price (in ¥)

o

Decrease in Demand = Decrease in Supply ©&

Q

Quantity Demanded and Supplied

(in Units)

Increase in Demand = Increase in Supply

Price (in ¥)

>X
o Q Q

Quantity Demanded and Supplied
(in Units)

o5

Practice Set.

1. Which of the following best defines the Law of Demand?
FrfefeEa & & @i wi % Fraw S gad o8 § i ware?

A. When price rises, demand also rises.

ST BT Sed! &, dl /i Wi Sed! &1
B. When price falls, demand falls.
ST BT TR €, o 7 Y Rt 21

C. When price rises, demand falls, ceteris paribus.

TS BT Sl €, AT 7T R 2, 91 He g9 A W

D. Price and demand are unrelated.

e 3R | Pl HIE G Tel 2

2. Demand curve generally slopes:

AT 6 AT e e o g €2
A. Upward from left to right

T T 2T HW HI 3R

B. Downward from left to right
ST | T 1 67 3R
C. Vertical

D. Horizontal

giferst




3. Which of the following is not a determinant of demand?

FrfeEa & @ i A o1 i 7€ 22
A. Income

3T

B. Tastes and preferences

BT 3R wefieany

C. Price of related goods

D. Supply of the product

S 1 ey (Y

4. The Law of Demand operates only when:

T &1 W e a0 BT BT 8 S

A. All other factors remain constant
T} 37 B TR T &

B. Income keeps changing
AT H AR SEATd Bl &
C. Population is increasing
SEEA 9 T €

D. Supply increases

3TYF ST &

5. Giffen goods violate the Law of Demand because:

A. They are luxury goods

3 faretTfErem 1 g &

B. They have no substitutes
3 HIE faewed 72 Bd

C. Income effect is negative and stronger than substitution effect

3T VT BRI BT & 3R Ty wa § stfas grar e (4

D. Demand is perfectly elastic
HiTT gofa: T Bl €




6. Contraction in demand means:

T H Tepert 61 ref 2

A. Decrease in demand due to fall in price

BT TR | |7 o BT

B. Decrease in demand due to increase in price
BT T T W H FHH

C. Shift of the demand curve to the left

HiTT dsh T ST @Rt

D. Shift of the demand curve to the right
RINECEREA KA R e

7. The Law of Demand does not apply to:

it o1 e 2 A o o Iy e ar 22
A. Normal goods

AT THT

B. Luxury goods

FeTTEaT 1 T

C. Giffen goods

D. Necessitigs
iv

8. An increase in demand shifts the demand curve:

HivT & i A vt ak few fon & fewmar 22
A.‘Leftward
a7

B. Rightward
A1

C. Upward

HIR

D. Downward

A



9. Movement along the demand curve is caused by:

Wi Tk 3 ATl TITSHeTaT BT HROT BT &:
A. Change in price of the good

T I BT B gRad

B. Change in income

I A afedT

C. Change in preferences

sfeat ¥ aftadT

D. Change in expectations

rqenaT § qRedT

10. Inferior goods are those whose demand:

Tt QA gt & Formept Wi
A. Rises with rise in income

3T T W Tl 2

B. Falls with rise in income

T g R Tl 2

C. Is not affected by income

3§ YMTierd T8 gldl

D. Rises with fall in income

3T T | 9edl §
11. Which of the following is not a type of price elasticity of demand?
Frfaf@a & & B i Y HeT e BT SR T 82

A. Perfectly elastic demand / ‘{'Tf IR HIT

B. Perfectly inelastic demand / T"f AT AT
C. Unitary elastic demand / TRTHP SICK:IU]

D. Constant demand / T@R HIT

Answer: D. Constant demand / TR T



12. If the price of a good increases by 10% and the quantity demanded falls by
20% , the demand is:

IfE forelt org Bt B 10 % g AT 2 3R ART 20 % 2 AT 2, aF 7R Bt g

A. Inelastic / ST

B. Elastic / @R

C. Unitary elastic / Tl dlidl

D. Perfectly inelastic / qUT 31T =H T

Answer: B. Elastic / @R

13. When total expenditure remains constant despite price change, elasticity of
demand is:

T e UREe 3 SIS St o TR Tga €, At Wi oy e gl

A. Greater than one / & ¥ 3Tfd®%
B. Less than one / T% 9 &H

C. Equal to one / e & SRTeR
D.Zero / 3[A

Answer: C. Equal to one / T% % SRR

14. The demand for a necessity good is usually:
E g B AT | Bt 2

A. Perfectly elastic / 0T @GR

B. Perfectly inelastic / JUT 37T lH I

C. Relatively inelastic / 3T0&ITEd AT
D. Unitary elastic / T T

Answer: C. Relatively inelastic / W AT



15. If price increases from 320 to Y22 and quantity demanded falls from 100
units to 90 units, the price elasticity of demand is:

TR e T20 | TGHT 122 T AT ARANT 100 THTSA | THT 90 THISAL W AT A, A e @
it

.1
.05
1.1
2

OQwp

Answer: C.1.1

16. Which method is used to measure price elasticity at a point on the demand
curve?

it o5k W fehet foig o e v e < i it e su e 22

A. Arc Method / =ma fafer

B. Point Method / &g faifer

C. Total Expenditure Method / $e1 &4 faifel
D. None of the above / SUXIerd | H PIE TEl

Answer: B. Point Method / ﬁgﬁﬁ

17. Cross elasticity of demand between tea and coffee is expected to be:
T 3R BT & S TR AT A FHIE: 2l €

A. Positive / HhRTHDB
B. Negative / ThRTHB
C.Zero /3

D. Infinite / 3d

Answer: A. Positive / GbBRIHB



18. Income elasticity of demand for inferior goods is:

A. Positive / hRTHDB
B. Negative / 7PRIHP
C.Zero /3T

D. Infinite / 3

Answer: B. Negative / 7bRIHP

19. The concept of elasticity of demand was introduced by:

T Y AT <Y ATIROT fhHh gy < T8 22

A.Adam Smith

B. Alfred Marshall
C.J.M. Keynes

D. Robbins

Answer: B. Alfred Marshall

20. When elasticity of demand is zero, the demand curve is:
S /I ST ST 9 BNl 2, O Wi 996 B €

A. Horizontal / &fdst
B. Downward sloping / B EIEIESIERIS]
C. Vertical / &

D. Positively sloped / SPRIHP SeATT dTeAT

Answer: C. Vertical / S¢aTeR

Q. 21.If the price of a good rises from X10 to X12 and the quantity demanded falls from 100 units to
80 units, what is the price elasticity of demand?

IR TRl o <A BIHd <10 & TG <12 BT AT SARHRT 100 THTS TV T 80 FHIE T A €,
HITT Y el el T 2

Al

B.2

C.1.25
D.0.8

Answer: B



22. If demand increases by 25% when price falls by 10%, what is the price
elasticity of demand?

AR T H 10% T HH Q TITH 25% B qfeg; Sl 2, A 7T B Yo el 1 gir?

A.25
B.04
C.15
D.1

Answer: A

23. A 20% fall in price leads to a 10% increase in demand. What is the elasticity?

HeT § 20 % 1 HH T HTH 10 % B I Sielt 21 e gri?

A.05
B.2
C.1
D.15

Answer: A

24. Price of a good increases by 15% and total revenue increases. What is the nature
of demand?

A el T BV P | 15% B Ihgs etl € TR He ASTET qGall &, v AT 1 UBfel
FATE?

A. Elastic / TEIER
B. Inelastic / AIER

C. Unitary / ShTH
D. Perfectly elastic / qUTd: @IEiER

Answer: B

25. If elasticity of demand is 1 and price increases, what happens to total
expenditure?

I W <l A 1 € 3R B gt 2, ol el T I T YT T2

A. Increases / I

B. Decreases / €T

C. Remains constant / TR T
D. Becomes zero / [ B ST

Answer: C



26. If demand is perfectly inelastic, what is the shape of demand curve?

T | Yuia: AR 2, aY Wi 9 T ATHR F4GT 22

A. Horizontal / &fdst

B. Vertical / JEaTER

C. Downward sloping / 9= ST g3l
D. Upward sloping / U Il g31T

Answer: B

27. A consumer buys 50 units at Y10, and 60 units at 9. What is the price
elasticity?

Teb STHIERIT <10 T 50 SHTS THEAT 2, 3 T9 W 60 TBIS | Wit Y o wArel T 82

TaowE»
N O ==
g9
N O

Answer: B

28. Price of a good decreases by 5%, and total expenditure remains the same. What is
elasticity?

Tt o B B | 5% T HHE EIe B IR Pl T A Tl €1 I AL

A. Elastic / @GR

B. Inelastic / 3c@ER

C. Unitary Elastic / THIH® did
D. Perfectly elastic / qUTd: @I<iER

Answer: C

29. If price elasticity is greater than 1, what happens to revenue when price
falls?
i T A 1 9 317 2, A Ao A TR W Oerea W o SR ug?

A. Increases / I
B. Decreases / ST
C. Remains constant / TR &
D. Becomes zero / I & ST

Answer: A



30. A fall in price from 50 to 40 leads to an increase in quantity from 200 to 240.
Find elasticity.

He T50 W TLH 40 B ATAT SR HHT 200 W AR 240 B SATA 21 HT DY e @l
T HBIfg)

o0 W =

.1
.1
.0.
.2

TCaOwp

Answer: A

Micro Economics

Cardinal & Ordinal
Cardinal Utility Theory: An Overview

The Cardinal Utility Theory assumes that utility (satisfaction derived from consuming goods and
services) can be quantitatively measured and expressed in cardinal numbers (e.g., 1, 2, 3). This
concept was primarily developed by early neoclassical economists like Alfred Marshall.

wﬁmmﬂ‘rﬁmﬁm

T Togid AT § o ot 31k Harsti & ST & WTed Tel 1y 1 H&ATeD B9 § HIYT ST TehdT € 3T 39
P TR (1 1, 2, 3) § e BT ST TehelT €| ST FIBTT T B T I[B3ATT 9-IMET
feferTiert = foa o

Key Assumptions (&I 3THMY):
1. Utility is Measurable (STRAAT ATGT ST Hhell 2):

Utility is measured in utils, a hypothetical unit.

ST &1 G AT Bled b SIS H HIUT AT 2|
2. Rational Consumer (FITFFE Wﬁ?ﬁT):

The consumer aims to maximize their total utility.

SUMTTRIT BT 3639 TOT Food IUATHIAT T STTEBAH FHAT EIT 2 |
3. Diminishing Marginal Utility (Tt HiHid ST

As more units of a good are consumed, the additional satisfaction (marginal utility)
decreases.

Topet aeq o 3Tfeies STl & IUMIT § UTed SAfdRer Hd Ty (HHId IUANTTdT) FHH 2T 2 |
4. Additivity of Utility (STZNFTAT &1 JNTIHBAT):

Total utility is the sum of the utility derived from each good.

o IUNTTAT A I T UTed IUNTTAT T A1 2rell 2 |




Total and Marginal Utility (et 3 T SYFIET):

1. Total Utility (TU):
The total satisfaction obtained from consuming a given quantity of goods.

TepeT g <l Tep TSI /T & ITMIT | U el Hel W |
Formula (§): TU=XMU

2. Marginal Utility (MU):
The additional satisfaction derived from consuming one extra unit of a good.

Terdil g T e AT Terd ZabTS & ITHIT H UT T ekt Falw|
Formula (): MU=ATU/AQ

3. Law of Diminishing Marginal Utility (¥9id 39aifiiar & ged famw):
. Statement (F):

As the quantity of a good consumed increases, the marginal utility derived from each
additional unit decreases, provided all other factors remain constant.

ST-S1Y Tohd! a5 BT TUd d&d1 €, T TdRad SPhIe O UTed HIHTd SUIAT =t Sl 2, 5
3T Tt ek TBR & B

*  Graphical Representation (TRET W&gfd):

The MU curve slopes downward, indicating diminishing utility.

MU b 19 BT 3R @dT &, ST 52l SUTAT &F Z20idT 2|

It states that the amount of satisfaction provided by the consumption of
every additional unit of a good decrease as we increase the consumption
of that good.

12

=
o

~4-—Marginal Utility

d A N o N B o ®



Consumer Equilibrium under Cardinal Utility (TfEdel 3uafiar & Suvler
Hger):
Condition for Equilibrium (Fge &1 fRfd):

A consumer is in equilibrium when:
1. The Marginal Utility per Rupee Spent on each good is equal.

2. The total expenditure equals the consumer's income.

Formula ():
M
Ux _ MUy e MUM
Py Py
Where:
e MUy = Marginal utility of good X
e Px = Price of good X
e MUM = Marginal utility of money
IYHIAT HgAA Bl 20
M
Ux _ MUy e MUM
Py Py

Criticisms (STTARATY):

1. Measurement of Utility (G'Q?ﬁﬁ'aT HTHIYA):
Utility is subjective and cannot be precisely measured.

YA A TRIURE € 3R S8 Tl BY Y HIAT 7el 51T FehaT |
2. Neglect of Substitution GIﬁ'RlT“Fl‘ iﬁm):

The theory does not consider the substitution effect.

g Tgid Ufdemu TMTe 0 &I T2l <dT|
3. Simplistic Assumptions (m?rﬁgm STHH):

Assumptions like constant income and rational behavior are unrealistic.

TR 31 37X FifTe FaER S8 SFTAM FIEAfd 2



Ordinal Utility Theory (Ordinal Approach)

Ordinal Utility Theory is a concept in economics that explains consumer behavior by ranking
preferences for goods and services. Ordinal utility focuses on the relative order of preferences
without quantifying the level of utility.

In this Consumers rank different bundles of goods in terms of preference, e.g., Bundle A is preferred
over Bundle B, but the magnitude of preference is not measured.

TR Tafi= Tl & dscl &l i dT & ohH | T@d 2, S14: §d A, 951 B ¥ 3fees q6g fear i g,
TR GG I HTAT Bl HT9T A1 SA1dT1)

4. Assumptions (‘{EWFUTI'E'{):

o Rationality (AdBSTieTdT): Consumers aim to maximize their satisfaction.
STTERIT 3T HATS BT 3TfeIepdd B BT TIT B §1)

o Completeness (‘{UfaT): Consumers can rank all possible bundles of goods.
QITERIT T ST S8l T ThHeg o Hebd &1)

o Transitivity (@WT): If A is preferred over B, and B over C, then A is preferred
over C.
@A, B T 3feie wee € iR B, C ¥ 3Afeed g 2, a1 A, C T 31 ud 2l

5. No Cardinal Measurement (aﬁé WWT@):
Utility is expressed in terms of order, not measurable units.

RUANTAT BT T § o a1 SATaT 8, AT I SHI8d1 § T8 1)

6. Diminishing Marginal Rate of Substitution (MRS) (HHT~ UfdeTaT <3):

The rate at which a consumer is willing to substitute one good for another diminishes while
maintaining the same satisfaction level.

FUMTERIT GHT HATY TR ST W g Ueb I 1 gAY ] T See bl A EATE 1)

To analyse consumer behaviour we need to know
indifference curve & budget line.

SYMIRIT HdER BT fd2e9uT B & T g ISRAAdT a3k 31R doie
IGT ST Y 3G HdT 2

to derive an indifference curve from a utility function, you
simply set the utility function equal to a constant value
(representing a specific level of satisfaction) and then solve
for the relationship between the quantities of two goods,
which will give you the equation for the indifference curve on
a graph; essentially, you are finding all combinations of
goods that provide the same level of utility for a consumer.



Key steps:
e Start with a utility function:
Let's say you have a utility function U(x, y) that
represents the utility a consumer gets from consuming
quantities x of good X and y of good Y.

Set utility equal to a constant:
Choose a specific level of utility (denoted as "k") and
set the utility function equal to that value: U(x, y) = k.

Solve fory:
Rearrange the equation to express y as a function of x:
y = f(x, k).

Example:
e Utility function: U(x, y) = xy

» Set utility equal to constant: xy = k
e Solve fory:y=k/x

U IYATTAT e[ H Udb 3ERIHAT db YT e & Tl u, 3T 99
IYAITAT BerelF T Teb R Hed (T & Uep faferse &R bl
gfdfAfeicr) &b SRR A BId § 3R i a1 g3 DI /11 & Sl
G Pl 8 B B, 1T 3MTUh] JHIBIUT T UTH WX 3&TH HdT

ash; 3TfaTd BT H, 31T9h! a&I31T b THT FAISH fAd @ 8 S
3T & Tl AT TR I 3UTITAT &M Hd 2|

O PgH:

U U1 B H TRY & H19 o fdb 31T UTH Teb 39ATIdT
TRl U(x, y) & ST STHTeRIT T o ST BT ("K" &b BT H
fafed) 31R 3UAMTAT BereM Bl 3T A &b RTER e B U(X, y) =
Kk




y & fdT &1 B4 y Bl x & Th Bedd &b B4 H ] B &b Tl
GHIBIUT Dl GG BY: y = f(x, k)|

3alelul:

3UAITAT Here[: U(X, y) = xy

3UANTAT bl ERIPB P aRTER e B xy = k

y & T 8 &Y y = kix

Good Y

The slope of an indifference curve is the marginal rate of substitution

(MRS), which is the rate at which a consumer is willing to trade one good for

another:

 Explanation

The MRS indicates how much of one good must be given up to keep
utility constant if the amount of another good is increased by one unit.
Formula
The MRS is calculated by dividing the partial derivative of the utility
function with respect to one good by the partial derivative of the utility
function with respect to the other good.

3T d5h BT g Wfd<ATI hl W & (THIRTH) &, ST dg R 2 ol W
Teh IUHTRIT AR @b Tei e o] T ATIR & Dl IR BIdT &:

WG] THRYH SfTid &dl 8 Tob Tl febeft 3171 T bl AT Ueb SebTE 98
STdT 2 AT 3YAMTAT T AR T & i e g bl febat HT=T BIST STH]
By
BIHAT TH3TRUH bl TUMHT Ueb g &b Heel | IUANNIAT Bl b 37fIeh Fa=
DI QIR I b Hael H Ul Beid &b 3Tfeleh G~ F feTfoid Bcb bl
SIcik]




Feature of indifference curve

1. Negative Slope (FUTTcH® &Td):

dQ,
dQ,

STET Q) 3R Q,, 2 awg3t B 7 1 A F2AfelT 2 3 T avg B AT g™ F T GERY g By AT Y
BH BAT BT dTfeh ITMTRIT IHH HdTY TR TR G171 2|

2. Convex to Origin (qefeg @l 31R 3de):
d2Qy
dQz
g 22Ifdr ¢ fos Twid ufdwemda & (Marginal Rate of Substitution, MRS) Tredt 21

3. MRSxy is Diminishing (MRSxy T<dar 8):
i wfdemiT & (MRSxy) &1 A+ wU & e fdsar ST T &:

_dQ, MU,
dQ. MU,

<0

>0

MRS,, =

<&t MU, 3R MU, %721 Q,, 31R Q,, &1 HAid 3uafiar 21

4. Non-Intersection (399 ¥ 7 PTeAT):
I ITHIAT agp BT Ht U~ bl &l pred | O B &

IC, #ICy TRU, # U,y
STet Uy 3R U, fafi=1 3uafirar R €1

5. Higher Curve Represents Higher Utility (32T asb 31fdes 3uaffirar q2rfar 2):
e ICy IC; AFWE, ar

Uy, >U;
6. Continuous and Differentiable (Idd 31R 3ada-1a):
3ERAAAT a6 Ydb dd 3R 3aba-1g a5 6
< OU oU
f(Q:Qy) =U \_rl_&'Tan >03ﬂ?672y >0

g T 3y g 3R 3w fiiar fgid & qe 3R &1



Indifference Map is a graphical representation that shows a set of indifference
curves, each representing different levels of satisfaction or utility a consumer derives
from various combinations of two goods. The curves on the map do not intersect, and
higher curves represent higher levels of utility.

I AT A (Indifference Map)

ISTHHAT HHES T WTTthdbed TR &, ST % IS HAT ashi (Indifference Curves) Bl
ZeTTdT 81 U I 37 T S-S bl <2MTdT &, S8 ITMTeRIT T T bl TS
T IUANTAT UTed AT 2| SH AT IR ek Teh-GHR bl el Pled, AR I e Afeb
YT & TR B 2201 &

GoodY

O Good X T X
@ Indifference Map



This budget line shows all those combinations of two goods

which the consumer can buy spending his given money income on the two
goods at their given prices.

g ole X7 &l RGN b 39 T+t TS BT c2Afdl 2 {58 3wt 319t & 118 o
37T b1 3 G311 W) 37eb! &I 7TE bIHdl W & s TRie FebdT &l

r M
4 M
P
108/ y
g-
8r Budget line equation:P, X + PyY =M
> 1T
8o
5-
4+
3.-
2-
1-
L
G 1 1 L . ‘/ x
T N2 X oA

Good X

Fig. 8.14. Budget Line

Alook at Fig. 8.14 shows that with Rs. 50 and the prices of X and Y being Rs. 10 and Rs. 5 respectively the
consumer can buy 10Y and OX, or 8Y and IX; or 6Y and 2X, or 4Y and 3X etc.

5T 8.14 9T U ST STV TdT TetdT 2 76 5. 50 3 X FR Y B HHA ©. 10 3 E. 5 THEAST: STHET 10Y 3R OX, T
8Y 3R IX T{IE TehdT &; AT 6Y W 2X, AT 4Y 3R 3X A2

The budget line can be written algebraically as follows:

P:X + PyY = M, Slope of BL= Px/Py
Budget Space:

A budget space shows a set of all commodity combinations that can be purchase by
spending the whole or a part of the given income.Thus The budget space is the
entire area enclosed by the budget line BL and the two axes.

quic RII:

e SfoTe TIT GHT FBAITS T &1 Ueb T fardT & fo 21 T8 31/ &1 Q1 a1 3 feen
T b TRIGT ST GhdT €159 UBR doie ©IH TeTe 1@ dT4d 3R 1 7eff F fery gqof &
2l




Impact of change in the price of X, Impact of Change in Price of Y

>

Good Y
Good Y
o]

g
o 0 L il Good X g
Good X Fig. 8.17. Changes in Price Line as a Result
g i i &
Fig. 8.16. Changes in Budget Line as a Result of Changes in price of Good

of Changes in Price Good X

Impact of change in Income

Y
4
al
> B
B
(o} > X
L L 3
Good X

Fig. 8.18. Shifts in Budget Line as a
Result of Changes in Income



Consumer Equilibrium
The indifference curve approach to consumer equilibrium
states that a consumer is in equilibrium when the budget
line is tangent to the indifference curve:

This means that the slope of the indifference curve (IC)
equals the price ratio of the goods. The IC should also be
convex to the origin at the point of equilibrium.

Here are some other conditions for consumer equilibrium:

* MRSxy = Px/Py: The marginal rate of substitution
(MRSxy) is equal to the ratio of prices (Px/Py). MRSxy
is the rate at which the consumer is willing to sacrifice Y
to obtain one more unit of X.

 MRSxy is declining: At the point of equilibrium, MRSxy
should be diminishing.
A

Lagrangian Function:

L=U(zy,z2,...,2,) + A (I— Zpimi)
i=1

where:

e \: The Lagrange multiplier, representing the marginal utility of income.

Steps to Find Consumer Equilibrium:

1. Set up the Lagrangian function.

L= U($17$27' . awn) + A <I - szwz>
=1

2. Take partial derivatives of £ with respect to each z; and \:



3. Solve the system of equations:

e From g—f
ou
9z,
b1

This implies the equalization of marginal utility per unit of expenditure.

ocL.

e From o

4. Substitute and solve for the optimal values of 1, zo, . ..

Interpretation:

Consumer equilibrium occurs when:

¢ The marginal utility per unit of money spent is equal across all goods.

¢ The consumer exhausts their budget.

ou

_ Oz _

b2

n
Z pixr; =1
i—1

This ensures the budget constraint is satisfied.

ou

— 8:17n — )\

Pn

axn-

consumer is in a state of equilibrium when they are satisfied
and have no desire to change their consumption. They
achieve this by maximizing their satisfaction by spending
their income on different goods and services.

Diagramatic Explanation

Consumer’s Equilibrium by
Y Indifference Curve Approach
A
\
\
\
\ \ \ Consumer Is at Equilibrium at
> BRNE \ )\ PointE, when budget line AB
> ‘\i\ “\ Is just tangent to ‘IC’
Fe X
.i \\ N Y \ \ H
<] | N
E I \ E ™ ~
N N T IC,
g SN N—
¥ B
e
—
O M A
Commodity X




Price consumption curve (PCC)

Shows how a consumer's consumption choices change when the
price of a good changes, while keeping income constant. The PCC
is constructed by finding the intersection points between a series of
indifference curves and their corresponding budget lines.

Hed 3UMIT b (TR geIfeT & fob 31y fEeR Tard g febet ok b1 I Seet OR 3uTerdT
P ITHNT TS & dact STdl & | TRIRTT BT (HT0T IAAT aebi bl ST 37R 34hT HTd
ST XT3 b & Tfdesed fag3ii e gea b SirdT 8|

1
A ?utor'sTips
18 Price
Consumption
| PCC Curve

Tiger Biscuits (in Units)
o))
i

w
f

——+—+
5 10 15 20 25 30

Parle-G Biscuits (in units)

©



Income consumption curve (ICC)

Shows how a consumer's optimal consumption bundle
changes when income changes, while keeping the prices
of goods constant. The ICC illustrates the effect of income
changes on the quantity of goods demanded.

37T 3T <Ish (3TTSHINT) (ST & feb 31l el hid 2R
3G Y, 31T | R g1 TR 3uHTeRIT BT S8 3UHIT 8
Y FETdl g1 TSHIET AT T T8 aEI31 bl HIAT WX 37T
TR < YHTa T c20fdT 2|

» X

Ls

Fig. 8.21. Income Consumption Curve : Income Effect



An Engel curve is a graph that shows how much of a

good or service a household demands at different income
levels, while keeping prices and preferences constant:

Engel curve

* An Engel curve show the
relationship between optimal
choice of a good and income

Engel curve for a normal good

Separation of Substitution and Income Effects from
the Price Effect

The Hicksian Method:

Hicks has separated the substitution effect and the income
effect from the price effect through compensating variation in
income by changing the relative price of a good while keeping
the real income of the consumer constant.

Suppose initially the consumer is in equilibrium at point R on
the budget line PQ where the indifference curve I, is tangent to
it at point R in Figure 32. Let the price of good X fall. As a
result, his budget line rotates outward to PQ, where the
consumer is in equilibrium at point T on the higher indifference
curve ..

The movement from R to T or B to E on the horizontal axis is
the price effect of the fall in the price of X. With the fall in the
price of X, the consumer’s real income increases.



p\ Normal Good

1cC Substitution

M i Effect
IT,.ch,,, —
/ Effect
> P
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e
o B _D EgQ N Q,
Price Effect Good X
Fig. 32

To make the compensating variation in income in order to
isolate the substitution effect, the consumer’s money income
is reduced equivalent to PM of Y or Q:N of X by drawing the
budget line MN parallel to PQ4, so that it is tangent to the
original indifference curve I, at point H.

The movement from the R to H on the I, curve is the
substitution effect whereby the consumer increases his
purchases of X from B to D on the horizontal axis by
substituting X for Y because it is cheaper.

It may be noted that when there is a fall (or rise) in the price
of good X, the substitution effect always leads to an increase
(or decrease) in its quantity demanded. Thus the relation
between price and quantity demanded being inverse, the
substitution effect of a price change is always negative, real
income being held constant.

This is known as the Slutsky Theorem, named after Slutsky
who first stated it in relation to the Law of Demand.



To isolate the income effect from the price effect, return the
income which was taken away from the consumer so that he
goes back to the budget line PQ,, and is again in equilibrium
at point T on the curve The movement from point H on the
lower indifference curve I, to point T on the high
indifference curve I. is the income effect of the fall in the
price of good X. By the method of compensating variation in
income, the real income of the consumer has increased as a
result of the fall in the price of X.

The consumer purchases more of this cheaper good X thus
moving on the horizontal axis from D to E. This is the
income effect of the fall in the price of a normal good X. The
income effect with respect to the price change for a normal
good is negative. In the above case, the fall in the price of
good X has increased the quantity demanded by DE via the
increase in the real income of the consumer.

Thus the negative income effect DE of the fall in the price of
good X strengthens the negative substitution effect BD for
the normal good so that the total price effect BE is also
negative, that is, a fall in the price of good X has led, on both
counts, to the increase in its quantity demanded by BE.

TEeR = IUMTRAT bl aTEA T 3T bl TR @ gY TosdT a%q bl |TUel BhIHd
H qRad Xds AT H TH=TdT b1 MIUTE o AT 8 U U TMTd 3T 3T
T Bl Hed THTd F 3TeTT o fAT 2|

HT SITSTY o6 7% H IuMTeRT e 1@T PQ ™R faIg R W T | €, STei
ISTEH AT I 11, 75 32 # falg R W eqeR@n 21 WA «iiTg fob &g X bl
B TRAT €| TR, 3Hb! TIeT T STe Bl 3R PQ BT 3TR FHAT
€, STel SUMIeRT S S AT e I1 TR foig T W T o &7 2|
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PRACTICE SET

1. Who is considered the main proponent of the Cardinal Utility Theory?

Cardinal STTAT fEgia &1 T&A Tadh B THT AT 82

A) J.R. Hicks

B) Alfred Marshall
C) Lionel Robbins
D) A.C. Pigou

Answer: B) Alfred Marshall
<~ Explanation: Marshall introduced the concept of measurable (cardinal) utility.
RAT: {9 A IUAIAT &bl 7T AT (Cardinal) HHT|

2. In cardinal utility theory, utility is measured in which units?

Cardinal SUTTTAT fgid ®, ST %1 fo5g gB1E H ATUT SI1aT 27
A) Utils

B) Rupees

C) Units of Goods

D) Margins

Answer: A) Utils

< Explanation: Utils are imaginary units to measure satisfaction.

STEAT: 'Utils' BT SHISAT BIdT 2, SiT GdTs &l H19 & felT ST 67 1t 2|




3. The Law of Diminishing Marginal Utility states that:

i ST BT BT 2 o/ e 87

A) Total utility increases at an increasing rate

B) Marginal utility increases with consumption

C) Marginal utility decreases as more units are consumed
D) Marginal utility remains constant

Answer: C) Marginal utility decreases as more units are consumed

.~ Explanation: More consumption = less additional satisfaction.

TEAT: S-S ITUTT 1 €, AR HelTs T AT 8|
4. The condition for consumer equilibrium under cardinal utility approach is:

Cardinal ST @i & SUieT Hqe 1 Tt o it 82
A) MUx = MUy

B) MUx/Px = MUy/Py = MU of money

C) MUx x Px = MUy x Py

D) TU is maximized

Answer: B) MUx/Px = MUy/Py = MU of money

< Explanation: Marginal utility per rupee spent should be equal across goods.

STEAT: UTd $UF R ot qTedt ST STITTaT T a3t & fog a9 g1 =g
5. The Law of Diminishing Marginal Utility was given by:

GIHid 3T o g @1 aw fea faar
A) Adam Smith

B) Alfred Marshall

C) Gossen

D) Samuelson

Answer: C) Gossen

<~ Explanation: Gossen’s First Law describes diminishing marginal utility.

HTEAT: THT 61 U 7™ did Suzifiar # fiirae &1 Zeriar 21

6. Total utility is maximum when:

o IUANTIAT STfEBaH BIdl & ITa:
A) Marginal utility is zero

B) Marginal utility is increasing
C) Marginal utility is negative
D) Average utility is maximum

Answer: A) Marginal utility is zero
.~ Explanation: TU reaches its peak when MU = 0.
SATEAT: ST HHTd IUFIAT I Bl €, q Pl SUATIAT SAfErbad et 2 |




7. The cardinal utility theory assumes that:

Cardinal ITTTAT fHgid &RIT AT 27

A) Utility is ordinal

B) Utility cannot be measured

C) Utility can be measured in cardinal numbers
D) Utility is subjective

Answer: C) Utility can be measured in cardinal numbers

Explanation: It assumes that satisfaction can be quantified.
TS IE HIHT & b Hls Bl TP T H HIIT ST HebT & |

8. In Cardinal Utility Theory, consumer behavior is based on:

Cardinal SYAT fogid § ST &1 SFdeR TTRA 84T &:

A) Comparisons

B) Ranking

C) Measurement of utility
D) Choices only

Answer: C) Measurement of utility

<~ Explanation: It focuses on how much utility a consumer derives.

TS I IYGTIIAT BT AT U ATETRA BT & — IqMTerdT ! fopef1 Tgfe foet w1 2

9. Which one of the following is not an assumption of cardinal utility theory?

771 % & SH-AT Cardinal SUAITTAT Fgid T SIAA & 82
A) Rationality

B) Constant marginal utility of money

C) Utility is comparable

D) Preferences are ranked

Answer: D) Preferences are ranked

.~ Explanation: Ranking is part of ordinal utility, not cardinal.

STEAT: FOId13T B1 BT Ordinal Togid # 81dl 2, Cardinal ¥ 71

10. According to Cardinal Utility Analysis, marginal utility of money is assumed
to be:

Cardinal IYFTITAT fISIYUT & SFTAR, GH BT HAIT IUATIAT BT HHT ST &:

A) Increasing
B) Constant
C) Zero

D) Decreasing

Answer: B) Constant

<~ Explanation: To simplify calculations, MU of money is kept constant.

STEAT: TOTHTST Bl ST I & T, ¥ 6T GHid STTET B @R 7T ST €|



Q11. If the total utility of 1, 2, 3, and 4 units of a good is 10, 18, 24, and 28 respectively, what is the
marginal utility of the 3rd unit?

i TRt org Bt ot ST 1, 2, 3 3 4 BTSN & FIQ HHI: 10, 18, 24 3 28 2, A el
TS Y HiHia IURIar T 22

a)o6
b) 8
¢) 10
d) 12

Answer: a) 6
L MU=TUQB)-TU2)=24-18=6

Q12. If Marginal Utility falls with each additional unit consumed, the utility function satisfies:

IfE U Al THTS B @Ud &% Grel Wi ITAIET S2dt 8, A STHNAT Bt foh 7w i
TS AT E?

a) Constant Marginal Utility / Ter =iHid Iuiftar

b) Increasing Marginal Utility / Tedl HATd IUAAT
¢) Diminishing Marginal Utility / AT AT ST
d) Negative Utility / RUTTcHes IGFTTIAT

Answer: ¢) Diminishing Marginal Utility

Q13. When Total Utility is maximum, what is the Marginal Utility?

T Gl SURTAT SFeThee heit 2, A Hiwia SuANraT = gt 82

a) Positive / GhRTHD
b) Negative / RITTHP

¢) Zero / 3[A
d) Undefined / TS d

Answer: ¢) Zero / T[H

Q14. If MU is negative, what happens to TU?
IfE WHid SURIRTAT SO 2, dt ot ST TTAT <6l T gl 22

a) TU increases / TU el g

b) TU remains constant / TU fEREd?

¢) TU falls / TU 91l €

d) TU becomes infinite / TU 3Hd AT €

Answer: ¢) TU falls / TU 92l 8



Q15. If the price of a good is X5 and MU is 20 utils, is the consumer in equilibrium? (Assume 1 util
=31)
TfE Tt g T Ao <5 2 TR Wi SUZIRTT 20 e 2, aY I SmTerT Sder # 82 (A« 1

e = 1)

a) Yes / K|

b) No, MU > Price / T&l, MU > Hed

¢) No, MU < Price / T&I, MU < I

d) Cannot be determined / Fraifea 781 fosam ST gt

Answer: b) No, MU > Price

Q16. For a consumer to be in equilibrium, the ratio MU/P should be:

TRt SaieraT % Her ! fefd & felg MU/P T S1uta <RI 2T anfea?

a) Greater than 1/ 1 § &
b) Equal to 1 / 1 & SR

¢) Zero /[
d) Equal for all goods / G T&g3il & feld HT

Answer: b) Equal to 1

Q17. A consumer consumes 2 goods X and Y. At equilibrium: MUx/Px = MUy/Py. If MUx = 40, Px
=4 and MUy = 30, what should be the price of Y?

Teh ITHIERIT 21 TG X 3R Y BT ST Tl 8 | Helt 98 MUx/Px = MUy/Py. af& MUx = 40, Px
= T4 IR MUy = 30 &, A Y BT qe ToherT giAn =nieg?

a) X2
b) X3
c)X4
d) X5

Answer: b) X3
=~ MUx/Px = 40/4 = 10, so Py = MUy/10 = 30/10 = 3

Q18. The Law of Equi-Marginal Utility helps in:

a) Maximizing utility / SUATTAT BT TR B H
b) Reducing expenditure / I PIHHH

¢) Minimizing utility / STTTAT BT AdH B H

d) Increasing price / oI e |

Answer: a) Maximizing utility



Q19. If MU = 10 for first unit, 8 for second, and 6 for third, what is TU for 3 units?
IS vge gfe F fiw MU = 10, 30 F g 8, 3 e 6 1T 6 2, A 3 Ife B Hor Su=ifiar wn
2

a) 24
b) 18
c) 26
d) 30

Answer: a) 24
- TU=10+8+6=24

Q20. A consumer buys goods A and B. MUa = 50, MUb = 30. Pa =X10, Pb =X6. Is the consumer
in equilibrium?

Teh IYHIERIT TEJT A 3R B TlEAT 21 MUa = 50, MUb = 30. Pa = <10, Pb = 6. ST SUHTHT
AT A 22
a) Yes /8T

b) No, MUa/Pa > MUb/Pb
¢) No, MUa/Pa < MUb/Pb

d) Cannot say / el &l ST Hebdl

Answer: a) Yes
MUa/Pa = 50/10 = 5, MUb/Pb = 30/6 = 5 — Equal, so equilibrium.

21. What does the slope of the budget line represent?
TS YW T T 68 Totar 22

A) Income

B) Prices of goods

C) Opportunity cost

D) Marginal utility

Answer: C) Opportunity cost
I C) AT A

22. If the price of good X increases, the budget line will:

JTE TG X B A G AT &, Al TTE @

A) Shift outward

B) Shift inward

C) Rotate inward along X-axis

D) Rotate outward along Y-axis

Answer: C) Rotate inward along X-axis

IW: C) X-37e7 b | AT BT 3R TN



23. When income increases and prices remain constant, the budget line:

T 3T TGAT & 3R P (R Tl €, Al oofe F:

A) Becomes steeper

B) Becomes flatter

C) Shifts outward parallelly

D) Shifts inward

Answer: C) Shifts outward parallelly

I C) GHHIER B A et B 3R fEaewdl &
24. A parallel inward shift in the budget line indicates:
TS YT § AHHIR 37e Bl AR FEaesTa 6t oef 2:

A) Increase in income

B) Decrease in prices

C) Decrease in income

D) Increase in utility

Answer: C) Decrease in income

IW: C) 3 H FHH
25. If the price of both goods doubles, the budget line will:

T T G B A ITAT 8 AT, A e I
A) Shift inward

B) Remain unchanged

C) Shift outward

D) Become steeper

Answer: A) Shift inward

I A) A B AN FErmes st

26. Slope of the budget line =

T T HT A =
A) Px/Py

B) MRS

C) -Px/Py

D) MUx/MUy
Answer: C) -Px/Py
AL C) -Px/Py

27. When the budget line is tangent to the indifference curve, it shows:

el ST Y@ SETHIAAT T56 1 ¥ Hl ¢, Al I8 S9Nl &:

A) Maximum utility

B) Minimum utility

C) Equal prices

D) Equal income

Answer: A) Maximum utility

I A) Aferesaq SuAifan



28. The position of the budget line changes when:

TeTe YT B eI et & o

A) Only tastes change

B) Only prices change

C) Only income changes

D) Either income or prices change

Answer: D) Either income or prices change

I D) IT AT A AT HMAA SIS
29. If the price of good Y falls and X remains constant, the budget line will:
T Y T B hIwd Tt € 31 X Y B @R el 2, it eie

A) Rotate outward along X-axis

B) Rotate inward along X-axis

C) Rotate outward along Y-axis

D) Shift inward parallelly

Answer: C) Rotate outward along Y-axis

I C) Y-3187 o Tl STed bl AR gAwt

30. Budget line represents all combinations of two goods that:

TTE T S TEGAT b 37 T TSI B 22Tt g A

A) Provide same satisfaction

B) Are preferred equally

C) Can be purchased with given income and prices

D) Are not affordable

Answer: C) Can be purchased with given income and prices

IW: C) TS AT AR HIHGT B AT T A1 TR &
31. In an extreme case, if the price of one good is zero, the budget line will be:

e o TR &, af et uen o Y i 9T 2, A ST Y et e

A. Downward sloping straight line
TAT Tt Felt

B. Vertical line

wead &

C. Horizontal line

et

D. Positively sloped line
HHRIHB SAT It IET

Correct Answer / @&t SW: C. Horizontal line / &ifest @n



32. If the entire income is spent on only one good, the budget line will intersect:

IS WUt 31T et T T W W Bl AT 2, Al ot @ o5 3tey & e

A. Y-axis
Y-8

B. X-axis
X-318t

C. Both axes
2 Te B
D. Orjgin

e foig

Correct Answer / @&l 3% B. X-axis / X-31&

33. If prices of both goods double but income also doubles, the budget line will:
TS AT TG <l BIHA GRTT & ST I IR Wi AT 81 SN, AT SeTe [T 92 T TT 98m?

A. Shift inward
X B AR fEgai
B. Shift outward
e i 3R fErmet

C. Remain unchanged
saftafaa @i

D. Become flatter

eI THA gt At
Correct Answer / @&l S C. Remain unchanged / Iafataa T

34. A vertical budget line implies:
Tk e It Y& IE g9t & f:

A. One good is free
TH WG T2

B. Consumer has zero income
IO B AT IR

C. Price of good on X-axis is zero
X-378 T IEg Bl hIHd IR 2

D. Price of good on Y-axis is zero

Y-3181 9 o] Bl <hIvd 9 &

Correct Answer / @&l Ia%: C. Price of good on X-axis is zero / X-37&T Wﬂ!ﬁﬁ‘ﬁﬂﬁl’ﬁ%



35. If a consumer spends all income on good Y and none on good X, where will
the consumption bundle lie?

TS STHIRAT AT HYUT AT Y T T & AT € AR X W FS AL, Al ST S8 Hagl TeId g2

A. On the X-axis
X-3&T W

B. On the Y-axis
Y-3T&T W

C. Oq the origin

g™
D. Inside the budget line
TS [T 6 3R

Correct Answer / @&l S B. On the Y-axis / Y-378T W

36. What does an indifference curve represent?

U ST a6 FIT S9TTaT 82

A) Budget constraint / IS ST

B) Equal level of satisfaction / AT Hdl¥ &
C) Consumer’s income / SUMTERIT T 3T
D) Market demand / §TSTR BT HT

37. Indifference curves are generally:

ITHIAT Ik HHTIE: B &
A) Concave to the origin / 3T & Ufd 3fade

B) Convex to the origin / It & wfd I
C) Straight lines / HTHT {@TT
D) Circular / gdThR

38. Two indifference curves can:

N I AT Teh:

A) Intersect each other / Te-ZER I BIE Hebd g

B) Never intersect each other / FHI TEl BT Gebd

C) Be concave to the origin / St % Ufd 3Tadd & Gobd &
D) Represent different tastes / fafy= sfear eoria &



39. Higher indifference curves represent:

S STEaT a9 29T &
A) Lower satisfaction / BH dIY
B) Equal satisfaction / TH §aly

C) Higher satisfaction / 3Tl Gars
D) No satisfaction / Pls Galy Tel

40. The slope of the indifference curve is known as:

ISTHHAT Teh BT SATT HEATeT 2

A) Budget rate / sIST< &

B) Utility ratio / SUATIIAT 3UTA

C) Marginal Rate of Substitution (MRS) / GTHTd UMY &I
D) Price ratio / §e 3TJUTd

41. Diminishing MRS implies:

Tt g8 MRS 1 37ef &:
A) Indifference curves are straight lines / SSHHAT b HIH W@eE
B) Consumer prefers one good only / STHIIT helet Teh a'{ﬂ?ﬁ TS AT §

C) Indifference curves are convex / S&RIAT I5h 3 &Id &
D) Budget line is steeper / ST Y& 3718 a1 &

42. If MRS is constant, the indifference curve will be:

If& MRS @R 2, aY SSTEdT a6 20
A) Convex /3ddd
B) Concave / AddeT

C) Straight line / ET&T @1
D) Circular / Iiid

43. Which of the following is not an assumption of the indifference curve
analysis?

FrfafEa & & Si-a1 IEriar T fargesor B uwon 78 22
A) Rational behavior / TETd FIER

B) Diminishing MRS / =iZdl HTHid Ifd&ImoT <2

C) Cardinal utility / GRETOTIHE SUFTTAT

D) Preferences are complete / ATeIfedTq qof €




44. The point where budget line is tangent to indifference curve represents:

T fSig TTET Srote Y@ SETHIHAT 2k Y w9t et €, Toriar 2:
A) Maximum expenditure / 3TTeibdH &g

B) Minimum utility / FFdH YT

C) Consumer equilibrium / STHIRIT HelT

D) Zero satisfaction / I Gals

45. Indifference curve touches the axes when:

IETHIAT 56 78T Bl A T AT & S
A) MRS is zero / MRS ST &
B) One good is a perfect substitute / T I&] JUT forebedt 2

C) One good is not consumed at all / Teh T&] BT ITHIT T&| (T ST
D) Consumer income is zero / SUMIKIT bl 3T ?H%

Q.46. If the utility function is

U=XY, what is the MRS of X for Y?
i ST BT U=XY B, T Y & o1 X &1 Higid ufdeemm <2 (MRS) &1 82

AY/X
B.X/Y
C.dXx/idY
D.XY

Answer: A

MRS =MUx/MUy=Y/X

MRS = HHid ITFar (X) / Heia Sudfar (V) = Y/ X

Q.47. A consumer's utility function is U=X2Y. What is the MRS of X for Y?

ITRAT BT ITAAT BT U=X2Y 21 Y & AT X &7 MRS 71 212

AX2Y

B.Y2X
C2YX

D .none of the above



Q48. If MRS = 3, it means the consumer is willing to give up:

IfE MRS = 3 2, a S0 3tk § Fob ST A 2:

A. 3 units of Y for 1 unit of X
B. 1 unit of Y for 3 units of X
C. 3 units of X for 1 unit of Y
D. None of the above

Answer: A
MRS =TT Y SigTTeTT 1 X UM & f1Q = 3 units of Y for 1 unit of X

Q.49. If utility function is U=X+Y, then MRS is:
e IUFITET B U=X+Y 2, dF MRS M

A. Constant
B. Increasing
C. Decreasing
D. Zero

Answer: A

MUx = 1,MUy =1 — MRS =1 — Constant MRS (Perfect substitutes)
MRS = 1 = fer Hiwia ufaeme & (qut fawe)

Q.50. The utility function is U=min(X,Y). What is MRS?
IR AT U=min(X,Y) €1 MRS T 812

A.0

B.1

C. O-infinite

D. Infinite

Answer: C
Perfect complements # MRS 3tfuifa E:IHT%W goods I fixed proportion # consume oAt

AT

Q.51. A consumer has utility function U=X0-5Y0-5. what is MRS of X for Y?
ITATAT BT U=X0-5Y05 81 Y & feT8 X &7 MRS T 2112

AX/Y
B.Y/X
C2/4
D.2X72Y

Answer: B



Q.52. If MRS is decreasing along an indifference curve, the curve is:

IfE MRS 92 @1 2, a¥ indifference curve 58T 2T

A. Concave to the origin
B. Convex to the origin
C. Linear

D. L-shaped

Answer: B

Decreasing MRS — Convex indifference curve

A MRS T 32t — T36 3PP (convex) BT 2

Q.53.If MUx = 20 and MUy = 5, MRS = ?
Jf& MUx = 20 X MUy = 5, @ MRS = ?

Q.54. If MRS = PX/PY, then consumer equilibrium is achieved. If PX = 10 and PY =5, what
should be the MRS?

FTE ST T PX/PY = MRS WEAT &, 3R PX = 10, PY = 5, @ MRS &1 €1 T1eq?

A.2
B.0.5
C.5
D. 10

Answer: A
MRS = PX/PY = 10/5 =2
ST Hge W MRS = e 34T BT 2|

Q.55. If MRS is increasing, the indifference curve is:

Ife MRS 9§ @ 2, aT indifference curve 8T 22

A. Convex

B. Concave

C. Straight line
D. L-shaped

Answer: B

Increasing MRS — Concave to the origin
TGl MRS T 272l — T A (concave) BT €1



56. Law of Diminishing Marginal Utility is based on which assumption?
Hiwia STAfrar # gra % Faw o g feg wwon @ smfia 82

A. Income of the consumer changes / UM I AT | URAdT BT €
B. Tastes and preferences remain constant / st 3R uge fer wdl &
C. Marginal utility of money increases / g1 I GHId SUANAT I8! &
D. Goods are complementary / ER@"I PLea BT

Correct Answer / @&l SWR: B. Tastes and preferences remain constant / wfemt i gae fer
wAHE

57. Consumer is in equilibrium when:
Ui Her bl feifa & gt 2 war:

A.MUx =Px /MUy = Py

B. MUx/Px = MUy/Py = MU of Money
C.MUx = MUy

D. TU is maximum

Correct Answer / @&l SW: B. MUx/Px = MUy/Py = MU of Money
(Where MU = Marginal Utility, P = Price)

58. The point of consumer equilibrium is the point where:
ST T T fSig T BT & et

A. Total utility is decreasing / eI SUITIIAT = TEl Bl 2

B. Marginal utility equals price / STHTd SUFTTAT g & T B €

C. Price is greater than marginal utility / eI I ST & 37fee BiaT @
D. Consumer saves money / SUHTERAT & BT Ioid BT &

Correct Answer / @8I S: B. Marginal utility equals price / ﬁnﬁmﬁmn@%w
e



59. Which of the following explains the downward sloping demand curve in
cardinal utility analysis?

FrafafEa § @ S-an SifeTer Sumiar frersor & it o 3 e Bt 3R FewT B THETAT 82

A. Law of Supply / 3mqfd &1 f1am

B. Law of Increasing Returns / SIg! W%t T (HIH

C. Law of Diminishing Marginal Utility / §THid SUTTdT § g4 T a9
D. Law of Equi-Marginal Utility / GH-STHTd SUJTIAT BT 9

Correct Answer / @&l SW: C. Law of Diminishing Marginal Utility / ?ﬁﬂiﬁmﬁﬂTﬁ'@'ﬂ'
EaNEoL

60. In cardinal utility approach, utility is:
FIfETe STAFET gfERIoT §, SR At Bielt 2:

A. Measurable in numbers / ST H AU

B. Not measurable / 3THTI1

C. Only comparable / ®del JoTqT AT

D. Dependent on market price only / &del TSR oY R R

Correct Answer / @&l S A. Measurable in numbers / @Il # AIGHT

61. Consumer equilibrium is attained when:
SYWTeRT Tt ad UTed BT & STe:

a) MUx/Px = MUy/Py

b) MRS = MUx/MUy

¢) MRS = Px/Py and IC is convex to origin
d) TU is maximum

Correct Answer: ¢)

62.At consumer equilibrium, the marginal rate of substitution (MRS) is:
SUMIeRT St 1 fefa & T ufaemod &2 (MRS) il 2:

a) Equal to price ratio / e 3TIUTA b SR

b) Greater than price ratio / Jed 34T & 3ffeieh

¢) Less than price ratio / Je& 3{UTd § &H

d) Zero /3

Correct Answer: a)




Production
Short Run Production Theory

Introduction to Short run Production (SdTGT EFW'EEW)

* Production: The process of combining inputs (like labor, capital, raw
materials) to produce goods and services.

(STE: I UTchaT 8 fST9H 1928 (S8 9, USiT, el HTeT) BT IUINT oleh
g3t 3R et &1 fAmfor fpa ST €1)
Key Concepts of Production (ST aiﬂ'@l S{IHROM)

1. Inputs (§19<H): Resources used in production, classified as:

© Fixed Inputs (=R €192): Cannot be changed in the short run (e.g.,
factory building).
© Variable Inputs (9f&d1 379Z): Can be adjusted in the short run

(e.g., labor, raw materials).
2. Outputs (3T3<Y2): The final goods and services produced.

3. Production Function (S®TET B ):

Describes the relationship between inputs and output:
Q=f(L,K)Where:

0 Q= Output
o L =Labor
o K =Capital

Law of Variable Proportions in Production Theory
ST fagia # uftad-eiter quta %1 )
Introduction

The Law of Variable Proportions examines the relationship between input and
output when one input is variable while other inputs remain constant. It is an
essential concept in production theory, highlighting how changes in input levels
affect output during the short run.



(after)

GRS SFUTA BT oM I 22MidT & fob STef Ueb 27y URed=eiiet 2T € 3R 3=
792 TR T&d €, 1 312 31K 371SeYe & i Tay T BiaT 81 I ST i ¥
Tk HecdYUl STTERUT & S Uil H ST TRl H ST 4 3™¥YL W VMTT Hl
ELIGINS

Definition

The Law of Variable Proportions states:

“As more and more units of a variable factor are combined with fixed factors,
total product initially increases at an increasing rate, then at a diminishing
rate, and eventually decreases.”

(afoarem)

GRAASIA SFUTd BT FHIH e €

ST TRIdTT BT hT EE T 3Tfed ghrei Bl fBR BREbI & TT1e SAIST AT 2,
1 Pl IS Teel T & 8 Fedl 8, Tt =redl X 8 R 3id § = ar g "

Assumptions

1. Short Run: At least one factor is fixed, and others are variable.
(ITTIHTA : FHH T HH Teh BRE [RR BT & 3R 3 GRAALIN Bid &1

2. Technology Remains Constant: No technological change during the
process.
(VTENTTehT TR & B UfehaT & SR BIs UTalThId gRady A& aidTl)

3. Homogeneous Units: Units of the variable factor are identical.
(TTEY BT TR BRE BT ShIedl Uh M Bl 2 1)

Stages of the Law

The law operates in three distinct stages:

Stage I: Increasing Returns to Factor

e Description: Output increases at an increasing rate due to better
utilization of fixed factors.
* Key Points:
o Marginal Product (MP) rises.
o Total Product (TP) increases rapidly.



¢ (TN I: PRSP W TGt AfdBe)
o ToereT: TR FREH! & TER IUANT F BRIT IAPLYL T 1 X H Tl 2
o wErfeg
= HYid IS (MP) F&dT 8|
« P 3R (TP) il J T&dT 8|

Stage II: Diminishing Returns to Factor

e Description: Output increases at a diminishing rate as the fixed factors
become over-utilized.
* Key Points:
o Marginal Product decreases but remains positive.
o Total Product increases at a decreasing rate.

¢ (IO II: HRE W Il AfdBe)
o TararoT: feR BRe! & AfEd ITANT & HROT H[TYLE =l &L F T &
o 'ﬂ@’ﬁg
= THd 3T (MP) 91T &, Wb HRIHE T&dTl 2|
« P 3G (TP) T X T T &
Stage II1: Negative Returns to Factor

e Description: Output decreases as the variable factor becomes excessively
used.
* Key Points:
o Marginal Product becomes negative.
o Total Product starts declining.

o (T III; BHP W TBRIHE TldBe)

o Tarerer: uRadeiict BRE & FAIH ITANT & BRUT ARPIYL T AT
H

o HEIfeg
= T I (MP) THRIAS & AT 2 |
« Bl 3ATE (TP) TA T &




Graphical Representation

Point of

TP
Inflexion_ F

Output

AP

O Fig11a N M

Amount of a variable factor MP

Importance of the Law

1. Efficient Allocation of Resources: Helps firms determine optimal
input usage.

2. Cost Minimization: Aids in reducing costs by identifying the most
productive stage.

3. Foundation for Economic Policies: Guides policies on resource
utilization.

(Fram %1 wga)

1. HHRMAT BT HI AT BHI DI 1S STYE IUIMT T o § 7eg
AT 2|

2. TTd § BHT: TI9 ISP HOT Hl U™ B dTTd T2H | 9e8adb |




3. 3TTfeles ~fadt et =i TETeH SURT W Aot &I o T 2|

Limitations

1. Short Run Concept: Does not apply to the long run where all inputs
are variable.

2. Homogeneous Input Assumption: Unrealistic in practical scenarios.

3. Technological Constancy: Ignores the effects of technological
changes.

(feTg)
1. IACUBIA Bl AR SrebTcT H AT A&l eidl ol T 1Y
IRadSiet 2id 2|
2. |HGY SIS Bl YROT: A= UREfadl § sersdfas|
3. WiEfeRr fRRdT: Talfieh aitad—i & TTd T FoRaie Hd! €|

Relationship Between AP (Average Product) and MP (Marginal
Product) in Production Theory

1. Key Definitions

1. Average Product (AP):

O Definition: The output per unit of variable input (e.g., labor).
AP=TP/L, where TP is total product and L is labor input.
o Explanation (f&2): Ufd 5 36T W I 3T B! A1Hd 34T
(AP) ®&d &l
2. Marginal Product (MP):

O Definition: The additional output produced by employing one
more unit of the variable input. MP=ATP/AL

o Explanation (f&): Te 1fdfed 97 36rE Sig W 3T 3rfdfiad
3T BT GHTd 3T (MP) Hed 2




2. Relationship Between AP and MP

1. Stage 1: When MP > AP

o Explanation: Marginal product is greater than the average
product; thus, average product increases.

o Graphical Interpretation: The MP curve lies above the AP
curve.

o Reason: The additional worker contributes more to the total
output than the average contribution of existing workers.

o TEAH: STa diHid I4TE 3ATGd ITE § 31fHe 2T 2, al 3ad 3T
LS
2. Stage 2: When MP = AP

o Explanation: Marginal product equals the average product; the
average product reaches its maximum.

o Graphical Interpretation: The MP curve intersects the AP
curve at its highest point.

o Reason: The additional unit contributes exactly the same as the
current average, stabilizing the average product.

o T&ErH: STa diHid ITe 31ad IS & S BidT 2, ad Agd

IS, 370 3SR d T W EldT 2|
3. Stage 3: When MP < AP

o Explanation: Marginal product is less than the average
product; thus, average product decreases.

o Graphical Interpretation: The MP curve lies below the AP
curve.

o Reason: The additional worker contributes less to the total
output than the average contribution of existing workers.

o TEErH: ST diHid IS 3i1ad SIS ¥ HBH BidT &, a7 319d IS
TAT B




3. Graphical Representation
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Long Run Production Theory
(ErderTet SaTed fagia)

The long run in production theory is the period during which all inputs are
variable. Firms can adjust all factors of production, such as labor, capital,
and land, to optimize production and minimize costs.

BT IS Taaid | SrEleTet g fafd gidl & Srd @ 3792
GRS Bld &1 BH T IS BReb! <18 oI, Usil 3R 7 & gt
H TP & dT1oh IS Bl ATTBAT TR AT bl FAdH (BT AT Teb |




Key Features of Long Run (SIEl®Te ?ﬁ'ﬂ'@ﬁ'@m):

1.

All Factors of Production are Variable

O In the long run, firms can change the quantity of all inputs.
O Example: A firm can buy more machines or hire more workers.

. rERT H GHT ST B URaaq9 2id 2

ISTIOT: BH 37fees AR Wlie TahdT ¢ A7 3TfHe YfHw] oY B W™
gepdT 2|

. No Fixed Costs (BT TR AT A8l)

O All costs are variable, as firms can adjust all inputs.
O Fixed costs from the short run become variable in the long run.

. ol AT aRad=eiiet Bidl € wilfs BH Tt s792 Bt GaTISTd o Tabd

e
AIBT DI RIRIT ATTd SIefebled B URadeiie 2l SITdl 21

. Firms Achieve Optimal Scale (FH SEd9 T YT BT )

O Firms can achieve the most efficient scale of operation by
balancing inputs.

. H SIYE BT HqeTd e HelTel T TG BT F U B Hebell & |

Production Function in Long Run (ﬁ'ﬁﬂﬂﬁ ﬁmqﬁ?)

The long-run production function is expressed as:

Q=f(L,K) Where:
Q = Output (3dTeT), L = Labor (3H), K = Capital ('Fﬁ)

o_¢

rfepTed H ST Bodd bl 4 BU & o a7 STTaT 2

Q=f(L,K)



To analyse production in In long run we need to know that, isoquqant
& isocost

Isoquants and Iso-cost Lines (AH-3ATE sk 114 'H'F[-Fl'l"'l?ﬁ'@T({)

1. Isoquants (FH-IATE q3H):

‘e Isoquant Curve
&l 6. [T- 's6-'kwdnt 'karv]
= 6 R g A line-_ on a graph,
S used in the study of
microeconomics, that
charts all the combinations

of inputs that will produce

LABOR the same output.

A

Olsoquants
represent combinations of labor and capital that yield the same
level of output.

O Example: A firm can use 5 units of labor and 2 units of capital
or 3 units of labor and 4 units of capital to produce 100 units of
output.

It is also known as producer’s indifference curve its slope is = Ratio of
marginal factor productivity

2. GH-IATE Ieh d GANT S2Td & o 919 TR Gil BT I9FNT T A
ITeH TR A & fel @ foam STt 2 |
I2TERUT: HH 5 SHIS o 3R 2 SHIS Yuil AT 3 SHIS A AR 4 SHIS Yail
T YN I 100 SHIE TS I ThdT €|

3. Iso-cost Lines ('{:I'F[-Fi'l"'l?ﬁ'@'l"i’):

O These lines show the various combinations of inputs that a firm
can purchase for a given cost.

O The slope of the iso-cost line is determined by the ratio of input
prices. It is also known as producer’s budget line



4 9-ATTa YETe 37 fafi= g @ gl 8
ST e TS T R Qe ST Jebdl B
GH-TTTA 3T BT BT SAYE HedAT &b IATd &
faifa g gl

Producer Equilibrium:

Producer’s equilibrium or optimisation occurs when he earns
maximum profit with optimal combination of factors. A profit
maximisation firm faces two choices of optimal combination of
factors (inputs).

1. To minimise its cost for a given output; and
2. To maximise its output for a given cost.

Thus the least cost combination of factors refers to a firm producing
the largest volume of output from a given cost and producing a
given level of output with the minimum cost when the factors are
combined in an optimum manner. We study these cases separately.

Cost-Minimisation for a Given Output:

In the theory of production, the profit maximisation firm is in
equilibrium when, given the cost-price function, it maximises its
profits on the basis of the least cost combination of factors. For this,
it will choose that combination which minimizes its cost of
production for a given output. This will be the optimal combination
for it.



Assumptions:

This analysis is based on the following assumptions:
1. There are two factors, labour and capital.

2. All units of labour and capital are homogeneous.

3. The prices of units of labour (w) and that of capital (r) are given
and constant.

4. The cost outlay is given.

5. The firm produces a single product.

6. The price of the product is given and constant.

7. The firm aims at profit maximisation.

8. There is perfect competition in the factor market.

Explanation:

Given these assumptions, the point of least-cost combination of
factors for a given level of output is where the isoquant curve is
tangent to an iso-cost line. In Figure 17, the iso-cost line GH is
tangent to the isoquant 200 at point M.

The firm employs the combination of OC of capital and OL of labour
to produce 200 units of output at point M with the given cost-outlay

GH. At this point, the firm is minimising its cost for producing 200
units.
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Any other combination on the isoquant 200, such as R or T, is on
the higher iso-cost line KP which shows higher cost of production.
The iso-cost line EF shows lower cost but output 200 cannot be
attained with it. Therefore, the firm will choose the minimum cost
point M which is the least-cost factor combination for producing
200 units of output.

M is thus the optimal combination for the firm. The point of
tangency between the iso-cost line and the isoquant is an important
first order condition but not a necessary condition for the
producer’s equilibrium.

There are two essential or second order conditions for the
equilibrium of the firm:

1. The first condition is that the slope of the iso-cost line must equal
the slope of the isoquant curve. The slope of the iso-cost line is
equal to the ratio of the price of labour (w) to the price of capital (r)
i.e... W/r. The slope of the isoquant curve is equal to the marginal
rate of technical substitution of labour and capital (MRTS:c) which
is, in turn, equal to the ratio of the marginal product of labour to the
marginal product of capital (MP1/MPc).



Thus the equilibrium condition for optimality can be
written as:

W/r = MPL/MPc = MRTSLc

2. The second condition is that at the point of tangency, the
isoquant curve must he convex to the origin. In other words, the
marginal rate of technical substitution of labour for capital
(MRTSi1c) must be diminishing at the point of tangency for
equilibrium to be stable. In Figure 18, S cannot be the point of
equilibrium, for the isoquant IQ; is concave where it is tangent to
the iso-cost line GH.

At point S, the marginal rate of technical. substitution between the
two factors increases if move to the right or left on the curve

1Q: .Moreover, the same output level can be produced at a lower cost
CD or EF and there will be a corner solution either at C or F. If it
decides to produce at EF cost, it can produce the entire output with
only OF labour. If, on the other hand, it decides to produce at a still
lower cost CD, the entire output can be produced with only OC
capital.

Both the situations are impossibilities because nothing can be
produced either with only labour or only capital. Therefore, the firm
can produce the same level of output at point M where the isoquant
curve IQ is convex to the origin and is tangent to the iso-cost line
GH. The analysis assumes that both the isoquants represent equal
level of output IQ = IQ, = 200.

IcqTEE Her:

Fwian o1 S AT SITH adl BT ¢ el I BRI &b STAH T &
[T ATUHAT AT HHTAT €| Teb T ATEIBAHIBIOT BH Y BRI (ITIL)
% TIAH YIS o 2t Teebeal T ATHAT BT IdT 2|

1. ot R g et e & T gaeht e @t W T3 AR
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JNTITYE BT TG HEAT € | T ST AT BT T & I L 2
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JAMSHHRIC 200 WHIS 3 TIIH, FA fb M I1 &, T= ATSTHAN-ATTA
[T HU O 2 Y ST By IS AT B AT 2| ATSH-BIE AST EF
HH AN E@Tdl € AR SR 200 TTH AT U &l {ohaT ST Fhell
21 SAIY, B AW 1T fiig T7 %1 9H Bl Wit 200 THEA 5
IATEA % folt T H @ 1T BRE T 2

Y UHR TH FH & T S8a TS 21 JATSHI-ATT T@T 3R SRS &
e & g etrarvares ord 18 2

BH & e & fAq QY 3ma2ads a1 R B B A &

1. Uge! 914 92 2 {35 TH-SFTd 1@ 6T ST TH-STE T % A & TR
BT TIET | STSHI-ATTA T T SAT IH Tl B (Fsd) IR Yl DY
HINA (IN) F JTITA b SR M. .. T /AR| ATSHIIE Teh BT SATH
IF TR YSit o dAeBHIehl UTARITI Y HHId ¥ (THAREITHTTET) & SRR
3, it aeet &, s & wivia e o e & wvia e (g
TAIEY) % AT F TER B

T UPBR FTAHAT & T et 1 fRafd & 38 weeR foram @i gepar &:
T /3R = QUGS /THUTET = THARE AT AHT

2, ZEA 9T 9 ¢ T woivEn & g W, AgaieRie a5k & 7 fog #1 3
A EHT TAT(RT | ZER W13} A, T Bl (R T & To1g gt & forg s o
AT UTAEITIA I HHId ST (THARECHTAHT) TR & foig WHA
Tt AfET1 o 18 W, S e 1 foig T8l &1 Wbl 8, Fifeh ATgHIRIE
1Q1 A & TTET T ATSHI-ATTd W& GH & TeRaEr g



faIg S W, AerHeht 1 | &1 A6 1Q1 T ETT AT AW A W S HRHI 6
S UTaITOe o ATt €1 SHb ST, T TTSTYE T HH AT e
ISt a1 SUF W IATiA foham ST Hepar & H Y AT TF T TH B BT
FUTIH BT 3 g Tota et 8 U @nTe W Sared & & o, a8
eI S I T HYUT SIS T IUTEH R Tehell £ Et 31, afe e i
Ht BH ARTA W TS BT ST A BT Hoia et 8, a4 4ot Sae dae
OC Uit % |r SaTied fokaT ST |t 2 |

I & FRIfemt st € Triifes Shaet 2 A haet Ooll & 6% Wi Saea T8l
fora <t WAt gafeg, wH fig M TR SH TR T S1SEYE Sed= H dehdt
STl SMTSHIRIE Teh 1Q Tt foig T Iet 2 3R M- &1 GH 6
g 2| farsersor war @ f6 ST stigdiRie 3eeye IQ = 1Q1 = 200
& THT TR BT UfdlTe B 2|

Output-Maximisation for a given Cost:

The firm also maximises its profits by maximising its output, given its
cost outlay and the prices of the two factors. This analysis is based on the
same assumptions, as given above.

The conditions for the equilibrium of the firm are the same, as discussed
above.

1. The firm is in equilibrium at point P where the isoquant curve 200 is
tangent to the iso-cost line CL in Figure 19.

At this point, the firm is maximising its output level of 200 units by
employing the optimal combination of OM of capital and ON of labour,
given its cost outlay CL. But it cannot be at points E or F on the iso-cost
line CL, since both points give a smaller quantity of output, being on the
isoquant 100, than on the isoquant 200.
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The firm can reach the optimal factor combination level of maximum
output by moving along the iso-cost line CL from either point E or F to
point P. This movement involves no extra cost because the firm remains
on the same iso-cost line.

The firm cannot attain a higher level of output such as isoquant 300
because of the cost constraint. Thus the equilibrium point has to be P
with optimal factor combination OM + ON. At point P, the slope of the
isoquant curve 200 is equal to the slope of the iso-cost line CL. It implies
that w/r = MPL/MPC = MRTSic

2. The second condition is that the isoquant curve must be convex to the
origin at the point of tangency with the iso-cost line, as explained above
in terms of Figure 18.
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Returns to Scale (AT & Uid AidHeT)

1. Increasing Returns to Scale (AT®HT %Hﬁmﬂﬁ'ﬁ):

When the output increases by a greater proportion than the increase
in inputs.
Example: Doubling inputs results in tripling output.

TS I STY2 Bl feg T Afeeh IUTd H T2 2|
IZTERUT: SAYL Bl AT B W IS a1 AT &l 1T &

2. Constant Returns to Scale CHT"-l'ﬂﬁ %Hﬁ'@?l’lﬁqﬁl‘):

When the output increases in the same proportion as inputs.
Example: Doubling inputs results in doubling output.

TS 3T ST % THM 3TUTd | eaT &
I2TERUT: SAYL Bl AT B TR 3T HI QAT & ST & |

3. Decreasing Returns to Scale (AT & Uid T<ar Afd%we):

When the output increases by a smaller proportion than the increase
in inputs.
Example: Doubling inputs results in less than doubling output.




SIS ITGT SAYE b Ifeg T HH AT H el 2|
I2TERTT: BAYL Bl ST B W IS AT H FH &1 1T &

Expansion Path (ﬁl'{?lﬂ qY)

The expansion path represents the locus of points showing the cost-
minimizing combination of inputs (labor and capital) for a firm at different
levels of output, given input prices.

Toream et 3 feIg3il T T9E € ST 3cTe &R | i & 12, 738 7Y 392 biHal
T AT 1T & Telq 97 3R Yl & GIISH Bl 971 2 |

Characteristics of the Expansion Path ('ER?IT{ Wﬁﬁﬁﬁlﬂﬁ{):

1. Cost Minimization (TTd %I JIdH BT): The expansion path is
derived from tangency points between isoquants and isocost lines.

O Isoquants (GHTT 3I< dsh): Represent equal levels of output.

O Isocost Lines (GHTT oIT7d TMT): Represent equal levels of total

cost.
2. Shape of Expansion Path (f&R U &7 3T6R):

O For perfect substitutes (‘{U'f UId®ITY), the expansion path is a
straight line along one axis.
O For Cobb-Douglas functions, it is a smooth curve showing
proportional input combinations.
O For Leontief production functions, it follows a right angle or
kink.
3. Relates to Returns to Scale (3TTHR & FTAR Uldhel T HeH):

O Increasing Returns to Scale (3TN H gig T ATd%H):

Expansion path moves steeply outward.
O Constant Returns to Scale (FR 9fd®wa): It is a straight line.

Decreasing Returns to Scale (51<d Ofd®el): It flattens out.




Graphical Representation (ITf%® !T{'g'ﬁf):

Importance of Expansion

Path (FIaR 92t T 72ga): ,
!
1. Optimal Input -
Allocation (3TdhcT "
- L2 c
g1Y<Z 31d<H): Helps " \\ 3
firms determine the Ly \\ E ”
most cost-effective 2 £ ’
. . Y1 \IQ
Input mix. LN
2. Production Planning 5 R
(TS JISHD: Aids in %ok My Mo Ng

scaling production
while minimizing costs.

3. Economic Insights (3T SPHIUT): Provides insights
into firm behavior under different input price scenarios.

Example (33Tg00):

1. Suppose a firm produces 100, 200, and 300 units of
output using different combinations of labor and
capital. The tangency points of isoquants (for these
output levels) and isocost lines determine the
expansion path.

2. IfE TH BH 100, 200, 3R 300 A Iered fafa=T o 3tk
Uit HAISTHT o |1 AT &, dT GHI IS b AR GHH
AT (@At & w0t foig foreaR oy FetiRa &8




Ridge Line and Economic Zone in Production
Theory

1. Ridge Line (3 @Ts4)
Definition (YRyTH):

The ridge lines are the boundaries of the
economically feasible region of production. They
indicate the limits beyond which the marginal
product (MP) of an input becomes zero or negative.

A TS 3cTeH &P 311feid U A Aagrt & S WA Bt F
¥ 39 W1 B g2rfet &, gt bt 3ge @1 Wwia 3 (MP)
2T T APRIHP 31 o1l &

Key Characteristics (554 fa2var):

l. 1Isoquant and Marginal Product (3113‘@!@12 3R
Hivia 3d1Q):

O Within the ridge lines, the marginal product
of all inputs is positive.

O OQOutside the ridge lines, at least one input's
marginal product is zero or negative.

2. i< g & Hiay $t STYSH FT HiHid 3T YATcHS BT
gl
AT AT & IIEY BH A BH TP AYS BT HHId 3cUTE T
T TBRIHE B SI1dT 81



3. Economic Relevance (37f2l® WRiffiesdr):

O The area within the ridge lines is called the
economic region of production.

O Production outside the ridge lines is
inefficient.

4. IS ATSH & MIaR BT &8 311fefd IS O BedTdm 2l
ST ATS~ &b d1gY BT IcUTSA 31&W HET SITdT &1

5. Visualization (g2ai®A):

Upper ridge line

Lower ridge line

Capital (K)
P-4

o Labour (L)

O Ridge lines are drawn on an isoquant map.
O They connect points where MP = 0 for one of the inputs.

6. IS TS MSAIRIE HY R FiT STt &
3 37 fagan &l Siigdt € STeT faselt U §7Ye BT MP = 0 B1aT &




2. Economic Zone (311ff& &)
Definition (famHm):

The economic zone of production refers to the area within the
ridge lines where resources are efficiently utilized to
maximize output.

3Nl & 39 & B! BEd § 9l At AT &b WiaR gar 2 iR STeT A S
FRAAATYdP ITANT H¥b IcdTed Bl fsa fosar Srar 21

Key Characteristics (J&4 fa2varg):

1. oOptimal Resource Utilization (SamMAl T 3me2l 3uanm):

O In the economic zone, all inputs have a positive
marginal product.
O Beyond this zone, either overutilization or
underutilization of inputs occurs.
2. 3nfefe & # WY YT P HHId UG YATHS BT &
39 & & e SAYSH BT AT aY 31Fd 3T a1 3167 IUANT Bt 2

3. Isoquant Shape (3TSHIgdIC BT MTHPR):

O The isoquants are convex to the origin within the
economic zone.
O Outside the zone, they lose their convexity.

4. 3nfefes & & WiaR 3gAaaic §@ $i 3R 30 8id 8
& & IIE3, I7PT T THY JHTG I SIrdT &l

5. Importance in Production (3c91E § Hgd):

O Guides producers to operate within the most
efficient range of inputs.
O Helps avoid wastage of resources.

0. IARPI P TTYSH & HIN F2UA HHAT & Hia? Bl A | 7eg wam 81
HHTYAY Y gafet & s=mar 31

Graphical Representation (3IREIH® Wg2H):



Capital
=
|
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O 2 4 8 8 10 12 14 18

Fig. 14 : Ridge Lines

Ridge lines divide the input combination space into three
zones:

O Economic Zone (31Tf5.'lil5 &4): Positive MP for all inputs.
O Non-economic Zones (ﬂ'x’-?ﬂTf'aTiF Qﬂ): Zero or negative
MP for one or more inputs.

. T T3 $AYE A ¥ Bl a1 & 7 fofera st 2

0 2 &: Wt 3TYSH & fAIT yaTHS MP

o iR-3nfil® &: v a1 31ftid gYeH F fAv [ a1 THRIHAE MP|
The isoquants within the ridge lines show efficient
production combinations.

A9 e & Wiaw & 3MgHIqaic H2AA e Gl PI fea@rd g1



Cost of Production
(3cUTE T #TT)

e Cost refers to the expenditure incurred by a firm
to produce goods and services.
-~ . ~ o N O [aN (o
(cld S U p| dalHd Pdl %\fll [Pl H gl

TELRAT SR G131 BT IS B P ol q Tbsam ST
2l)
2. Types of Costs (cTUTd & UFHR)

1. Fixed Costs (] @TE’I"H)

o Costs that do not change with the level of
output. Examples: Rent, salaries.
@ ATTd ST 31T & T &6 G1e 781 9] 2 |

3STEXT: TRy, dd 1)

lh':;'




2. Variable Costs (Qﬁ?l?ﬁ‘ 1)

o Costs that change directly with the level
of output. Examples: Raw material costs.

(A T ST ST &R P 1Y G STl

2| ITEL0T: el Mo BT AT 1)

Total Variable Cost Curve i

40
354
30+
25+
20+

154

Variable Cost (in F)

10

Output (in units)

3.Average Variable Cost (AVC)

The Average Variable Cost 1s the cost incurred on
variable factors of production per unit of output. It is
derived by dividing the total variable cost (TVC) by
the total output (Q).

Formula: AVC=TVC/Q
TiTT:

3Td TR @I (AVC) T8 ATTd & ST 318 &b




GfRad! BRebl TR Ufd ShTS 3T W ldl 2| SH B
TRt AT (TVC) Bl el IS (Q) T fevTivid ek
OTeT TR STt €

THIBOT: AVC=TVC/Q

3. Total Cost (T Td)

o TC=FC+VC
(P AT = TR AT + U] w1

TC

quantity



4. Average Cost (Sﬁ'{:l?f d)

o AC=TC/Q
(AT AT = el AT + IS Dl HEAT)

Average Coux Coarve '96
v
.
£ 4 1]
;/ 9 =
v \
2 A AC
e v - -
) e o
- - -
g © ”
-
< !
’—
O e L
3 ] . .
Ouwrpat On unee)

5. Marginal Cost (FHId FITTd)

o The change in total cost when one additional unit is produced.

MC=ATC/AQ
s Margimal Coat Surve 6 |
)
MO
124
w
: .
v
=]
13
;- -~
— - L
o 1 3 ]' 1 4
Outpet In unins)

o (d

(P AT | URad 516 T SATdRerd SBTS BT IS T ST §1)
Opportunity Cost (STTHL )

e  The cost of the next best alternative foregone.

(3! TITS Tddhed Bl BT Bl AT )




Cost Curves

SHORT RUN COSTS

SNC

Cost

SMC i Matgesl Cosl | ANC - Aarage Varal
SALC -Shonnrun 4 age Cos

Long Run Cost Function

In the long run, all inputs are variable, and firms can choose the optimal
combination of inputs to minimize costs for any given level of output. The
long-run cost function shows the minimum cost of producing each level of
output when all inputs are variable.

wlt AR AT BT

gfoTTT:

et 3rate #, 7t gAY uRad=1a Bid €, 3tk %o el | ST &R & ol «rd &t
FAAH B g STILH b SEAH AT BT I B el &1 w6l AT ATTd Bt
3 IS TR bl AT T Bl 22T & ST GHT 3792 TRad-oie &l |

Key Concepts:
I. Economies of Scale (STMPR ) HWTE’):

O As production increases, the long-run average cost decreases due to
specialization, bulk purchasing, etc.



O  WHSY IUTET dedl &, JaT YA 3ad «ATTd faSIsieoT, e T,

3T{S % HROT Tl 2|

2. Diseconomies of Scale (STMPR B3 WWTE’):

O Beyond a certain level of output, the long-run average cost
increases due to inefficiencies, management issues, etc.

O T FfYd ST TR &b 1<, AT 3R YU GHETRA b BT sl
31T 3T AT e T 2

3. Constant Returns to Scale (FeR Ufd®wel):

O When output increases in the same proportion as inputs, the long-
run average cost remains constant.

O S Z1YL o IUTd H ST HH U T F¢dT &, dl el e 3ed
ATTTd @R & &l

Graph of Long Run Cost (eIt AT AR BT ATH):

U-Shaped Long-Run Average Cost Curve (LRAC): It reflects
economies and diseconomies of scale.

J-ATHR I el SfEr ST AR q6 (LRAC): TE TTHR Bl feans
3R gy 2Tl 2|

& | \ SRAC, ! SRAC,/ Long Run &
g1\, ) N N Short Run Cost
© SRAC, SRAC SRAC 71 ]
w7 3 4
- iRic curve
+ - vy o 4
[ T
Q. Q Q, Q, Q
Output
Economies Constant Diseconomies

of scale returns of scale
to scale



Practice Set

Q1: What does a production function show?
(A) Cost-output relationship

(B) Revenue-output relationship

(C) Input-output relationship

(D) Profit-output relationship

TS Bl T ZMaT 82
(A) ATTd-3AREYL Hee
(B) TSTET-3{132YE Hele
(C) TTIZ-3MTITYE T

(D) TIM-3{ITYE HeeT
Ans: (OC)

Q2: In which stage does the marginal product become zero?
(A) Stage 1

(B) Stage II

(C) Stage 11

(D) None of these

Terer <ot § HiHid SETE I B ST 82
(A) O]

(B) O 11

(C) TOT I

(D) STH 4 BIE T2

Ans: (B)

Q3: What happens to total product when marginal product is negative?
(A) Increases

(B) Decreases

(C) Constant

(D) None of these

e HHIA TS BRI B AT €, At Fet IedTS IR T IHT el 82
(A) TEdT 8

(B) TIeaT ®

(C) TErREaTe

(D) &TH 9 BIE el

Ans: (B)



4. Isoquants

Q4: What do isoquants represent?
(A) Equal cost

(B) Equal production levels

(C) Equal utility

(D) None of the above

(A) THH 7T
(B) FHM IcdTE &R
(C) FHM IuAIaT

(D) ST § § BI Tal
Ans: (B)

5. Law of Diminishing Returns

Q5: The Law of Diminishing Returns applies to which type of production?
(A) Short-run

(B) Long-run

(C) Both short-run and long-run

(D) None of the above

Tedt g ufawet o fram e 7R % IeTe o AT 21T €2
(A) STHTA

(B) SrdeTet

(C) BT R STHBIA SHI

(D) SWIFT & T BIE TE

Ans: (A)

6. Returns to Scale

Q6: Increasing returns to scale means:

(A) Output increases more than inputs

(B) Output increases less than inputs

(C) Output and inputs increase at the same rate
(D) None of these

UM WX IGd UTdBel BT HAAT &
(A) ST TG T 377a e &

(B) IUTEA 1Y & FH T &

(C) 3T 3R 3AYE THH R T 9ed &
(D) &TH § BIS el

Ans: (A)




7. Cobb-Douglas Production Function

Q7: In the Cobb-Douglas production function, the sum of exponents represents:
(A) Returns to scale

(B) Cost function

(C) Marginal cost

(D) Total revenue

BI-STH AT B |, TUTIeh BT 1T 91T &:
(A) T R Afdsed

(B) ATTd Feid

(C) HIHId e

(D) Pt AT

Ans: (A)

8. Marginal Product

Q8: Marginal product is zero when:
(A) Total product is constant

(B) Total product is maximum

(C) Total product is minimum

(D) Total product starts declining

WA IeaTE I ST € S
(A) P I fRR BT &
(B) T ITS JATEBAT T &
(C) P TS FAAH BIAT &
(D) T IS T T &
Ans: (B)

9. Fixed and Variable Inputs

Q9: Which of the following is a fixed input in the short-run?
(A) Labour

(B) Raw materials

(C) Machinery

(D) Electricity

IIHT A FferfEa § 4 i U feR g1ge 22
(A) FH

(B) &A1 HIA

(C) A

(D) fasTett

Ans: (C)



10. Production Isoquants

Q10: The slope of an isoquant is known as:
(A) Marginal Rate of Technical Substitution
(B) Marginal Rate of Substitution

(C) Marginal Cost

(D) Elasticity of Demand

HATSHIGIE P ST B AT BT ST &2
(A) THATHT TR BT T &

(B) Afae=Imod &1 TiHid &

(C) HIHId e

(D) HIT T T

Ans: (A)

1131 Total Product (TP) W'@T@ﬁﬁﬂ Decreasing Rate WX, ar Average Product
(AP) 3R Marginal Product (MP) T <RIT WHTE 212

e (a) AP3T MP 2T &7
e (b) AP 3R MP 2! g7
e (c) AP TS «ifdhd MP €T
e (d) AP =T wfdsd MP 9T

Correct Answer: (c)

12 o feafa # Marginal Product (MP) 3[_T gFTT?

(a) ST Total Product (TP) 3Tfeidad &
(b) 9 TP T2 T &1
(c) 99 Average Product (AP) 3TTeHad &

(d) ST AP 52 T&T &
Correct Answer: (a)

1381 Fﬁﬁl’({, I{?E‘F‘ﬁl? Production Function ¥ Labor Units El?ﬂﬁtl'{ Marginal
Product (MP) ¥123 &TdT & | I B AT Stage IIAT &2

*  (a) Increasing Returns

. (b) Constant Returns

. (c) Diminishing Returns
(d) Negative Returns
Correct Answer: (c)



14. S Total Product (TP) 100 % 3R Labor Units 10 %,?ﬁAverage Product (AP)
T ERI?

. (@) 5

e« (b)10
e (015
e (d)20

Correct Answer: (b) 10

15. TR Stage L Marginal Product (MP) AhRIHA® (Negative) AT e?

. (a) First Stage
*  (b) Second Stage

. (c) Third Stage

. (d) TopeiT it Stage EEH]

Correct Answer: (c)

16. fra feifd & Average Product (AP) 3Tfereaw gar 2?

. (a) 919 Total Product (TP) 3Tfaddd &t
*  (b) ST Marginal Product (MP) [ |
* (c)SlIMP=AP

e (d)S TP &A o

Correct Answer: (c)

17. Tt @it Inputs aﬁzﬁmwﬁm Output ?ﬁ?gmg‘r\‘rrrq,a‘ragaﬁ?m Stage %"

*  (a) Increasing Returns to Scale
. (b) Constant Returns to Scale

. (c) Decreasing Returns to Scale
(d) Negative Returns

Correct Answer: (a)

18. afE Tk wH ® Additional Labor Unit SigA & Total Product (TP) SGaT & WfeT
Decreasing Rate 9%, @1 & 9T &g ST

. (a) Increasing Marginal Returns

e (b) Diminishing Marginal Returns

. (c) Constant Marginal Returns

*  (d) Negative Marginal Returns
Correct Answer: (b)



19. fora feifa o Isoquant qaszgﬁa?r Intersect ?F{'H?h_cﬁ%"

. (a) Perfect Substitutes
(b) Perfect Complements

(c) BT TET
(d) Homogeneous Production
Correct Answer: (c)

20AfE MRTS =2a1 2, aY Production Function T &Y BET 22

(a) Convex to the Origin
. (b) Concave to the Origin
(¢) Linear
(d) Vertical
Correct Answer: (a)

Q-21, Which of the following statements about
the principal-agent problem is false?

a) It is the risk that a principal who hires or employs an agent to
perform a task may find that the task is done poorly.

b) It is least likely to arise in cases where there is asymmetric
information.

¢) It may be reduced in the case of a company if its directors are
given bonuses that relate to the company's profits.

d) It may be reduced in the case of a company if its directors fear
their company may be subject to competition for corporate
control.



Q-22, Which of the following statements about
types of market or industry is false?

a) There are many firms in both perfect
competition and monopolistic competition.

b, Costs must be kept as low as possible in both
monopolistic competition and monopoly.

c) There may be homogeneous products in both
perfect competition and oligopoly.

d) There are barriers to entry in both oligopoly
and monopoly.

Q-23) Suppose you give up a job and use some
savings to buy a small bus which you driveon a
remote rural route. Which of the following costs
of your firm is an explicit cost?

a) The depreciation on the bus.

b, The wage of the job you gave up.

c) The fuel you buy for the bus.

d) The interest you earned on your savings
before you used them to buy the bus



Q-24, To see whether a firm is making an
economic profit, which of he following should be
deducted from its revenue?

a) Its explicit costs only.

b) Its explicit costs plus depreciation.

c) Its implicit costs only.

d) Its explicit costs and its implicit costs.

Q-25, When Total product is at maximum
Marginal productis at: -

a) Zero

b One

C) Infinite.

d) Non of the above.

Q-26, With the increase in variable factor,
output : -

Ay Increases.

By Decreases.

Cy 1stincrease then decreases.

D) Nonoftheabove.



Q-27, Which of the following statements about a
fixed inputis true?

a) Its price is fixed.

b, The quantity of it that a firm can use in the long
runis fixed.

c) The quantity of it that a firm can use in the
shortrunis fixed..

d) The quantity of output that the firm can
produce with itis fixed.

Q-28) In the short-run, which of the following
always gets smaller as output increases?

a) Average fixed cost..

b, Average variable cost.

c) Short-run average cost.

d) Short-run marginal cost.



Q-29,Suppose a profit-maximizing firm faces a
rise in the wage rate it pays. Which of the
following would definitely stay the same?

a) Its choice of production method.

b, The expansion path on which it ends up.

c) Itsisocost lines.

d) Its production function.

Q-30) At every point on expansion path: -

Ay Shortrunequilibrium.
By Longrun Equilibrium.
Cy Producer equilibrium.
D, Alloftheabove.



Q-31), What value of alfa & betain following

production function Y = ALPK®

represent Increasing return to factor: -
A, alfa=1

B) beta,1

C) alfa,1

D, Non of the above

Q-32) Learning curves represent the relationship
between

a. average variable cost and the number of
units produced per time period.

b. average variable cost and the cumulative
number of units produced
total cost and technology..
average variable cost and the rate of
increase in technology.



Q-33) Under which of the production function
Input ratio may not change at equilibrium, even if
there is change in input price: -

A, Cobb- douglus production function.
B Linear production function.

C) Fixed proportion production function.
D) linear production function.

Q-34) Continuous & equal substitution is the
feature of : -

A, Cobb- douglus production function.

B Linear production function.

C) Fixed proportion production function.

D, linear production function.



Q-35) Which of the following shape of expansion
path represent short run production function: -
A, Horizontal.

B) 45 degree upward slope.

C) Steeper than 45 degree.

D, Non of the above.



Perfect Competition (’H’Tﬁ Tfdea)
Definition OTF{'HTEIT)

Perfect competition is a market structure in which a large number of buyers and
sellers trade identical products, and no single participant has market control.
Prices are determined by market demand and supply.

Gyt wfaeof T TR ST & STH T8t 6 § @leR 3R fashdr aaH Sdmal
BT -7 B &, AR fBdT Y Tes UfaITit & UTg IR &1 A fEId & T 91ferd 81

BT | T SR B | 3R 3y gry ferifia gt €
Features of Perfect Competition ('FI'TTT uﬁwafzﬁﬁ@wrﬁ)

1. Large Number of Buyers and Sellers (Y1 G&AT % @lieR M fachar)

O

©)

There are many buyers and sellers in the market, ensuring no single
entity can influence the price.

IR | 9gd § TIGR 3R okt Bid €, a8 18 MY 37dsat fordhdr At

TR BIFd Bl UMTTId Tal e gabdT|

2. Homogeneous Products (HHT SATS)

©)

O

All sellers offer identical products, leading to no preference for one
seller over another.
T farehdT T S8 ITE Sid &, foraa fosdt oy fadsar & ufd @1

s CACEERARI

3. Free Entry and Exit (T3 AT AR )

O

O

Firms can freely enter or leave the market based on profit and loss
conditions.

HUHIT ™ R 2T BT TR P AR IR A T B9 G To9T

Thdl & AT ITeX bt Tebdll 21

4. Perfect Knowledge (Htl;ﬂf Trlﬁil?lﬁ)

©)

O

Buyers and sellers have complete knowledge about market prices
and conditions.

TR 3R T3l BT IR BT BT IR TR Bl o THBRT
ECIES




5. No Government Intervention (ﬂﬁé‘ wﬁm@ﬂﬁ)

O The government does not interfere in pricing or market activities.

O  TRPR Hed HERoT AT IR TidfafEat § g&ded Tl Hidl|

6. Price Takers (PHd TR BH T felhdT 3T @IER)

O Firms and consumers accept the prevailing market price; they
cannot influence it.

O HUMAT 3R IUHIRT IR | T feld e Bl WHR B &; J 4
e el Y Hebd |

7. Perfect Mobility of Factors (SeITE HReBI bl WYUT TfdSierar)

O Resources such as labor and capital can move freely within
industries.

O o AR YSHI 1Y FaTEH ITTT & i Wl U § RIFATIRA 8l Gohd 8|
Ig ferar gyot ufaerat o v et IR fefa s €, S arafaes sieT §
T3 TXE T T AT Bl il 2|

gftqut yfaert § et 31 (TR), 3G 3T (AR) 3R HHIA 31 (MR) T
Tford T Agifas fagamon
1. %ot A (Total Revenue - TR): et

A (TR) fordt it & 31T = T e
ST | U Fed ST I oIt 21 T g il
IATE h B AR AT TS AT H | ™
UG & &9 | qroTiee fean w81 |
mereo o
ST, s}

* TR =% 3 o P T

e P =T&IUE BB .
. Qza%ﬁq—s‘tngn Fig. 3.32: The TR curve : Perfect Competition



gRgut wfderi A
TIfep uftget ufaerat § v v Bid &t FafEd T8 @ qedl @i hma fEr
(&l €), 3ATeig P f@R 18aT & 3R $et 311 TR TH @A (linear) ®Y H 9gd! &1

2. 3{FAd 3T (Average Revenue - AR): 38 3T (AR) P 3T B it TS
Tt W | FrTfSier o656 YT <t Tl €| I Wi g T g aret St et
W 2T 2

AR=TR/Q=P
iUt wfveaut # p @R @ &, TafeT AR=PEFTH

o I 2T 2 T G 1 THIM ST Ho b e Bl 2|
e T HT I (Demand Curve)zﬁ‘ﬁ@f?ﬁ%,ﬁWHmwﬂfﬁ U &ffas
TNl 2|

3. 9G¥ (Marginal Revenue
- MR): HHid 3T (MR) T 31X
A 21 Teit Iig B <widt 2, S
T Sfafier gehTS el STt 21

MR=d(TR)/dQ

YA

Perfect Competition

AR

0 -
Output

AR/P

T, MR=TRn -TRn-1




gftqut yfaert § p fer w2,
TUIT MR =P

el ek AT SHTS oo+ W
T aredt Srfdfier o Bmd &
TER G 21

o URyul ufderat §, AR 3R MR
I 2id &

e AR 3 MR T GO &d &
3R X-378T & GHMIR Th
&fast T Bt 8|

g P=AR=MR:
EE' Perlect compeinlion
P - : AR =MR
L
ar] 1
0 Q, Q, Outpul

Fig. 3.34: AR = MR : Perfect Competition

Firm Equilibrium under Perfect Competition (Q;Uf yfaeqdi & faid o

'\

s (A) t (B)
§ MC
35 MC
g - A 8 ~ B
o AR = MR AR = MR
4

oy M O M, 3

Output Output
Fig. 1

)

1. Meaning of Firm Equilibrium (FH 'Fl'gﬁ:ﬁﬁ[ 3reh):
A firm is said to be in equilibrium when it has no tendency to expand or
contract its output. It occurs when the firm maximizes its profit at a given price

level.

(ST ToeT T o UTH 37U IS Pl I IT TH bl Ble Udfd el aldl &, a9 34

Gqe H HHT AT €1 T8 a9 BIdT & 976 BH ST 7T o Tk W 3TYAT STferdsd™ oy

T TR &l Bl 21)



Conditions of Equilibrium of the Firm:
A firm 1s in equilibrium when it has no tendency to change its level of output.
The conditions of equilibrium of the firm are:

(1) The MC curve must equal the MR curve. This is the first order and
necessary condition. But this is not a sufficient condition which may be fulfilled
yet the firm may not be in equilibrium.

(2) The MC curve must cut the MR curve from below and after the point of
equilibrium it must be above the MR. This may be explain through diagram
below.

In Figure 1(A), the MC curve cuts the MR curve first at point A. It satisfies the
condition of MC = MR, but it is not a point of maximum profits because after
point A, the MC curve is below the MR curve. It does not pay the firm to
produce the minimum output OM when it can earn larger profits by producing
beyond OM.

Point B is of maximum profits where both the conditions are satisfied. Between
points A and B. it pays the firm to expand its output because it’s MR > MC. It
will, however, stop further production when it reaches the OM; level of output
where the firm satisfies both the conditions of equilibrium.

If it has any plans to produce more than OM; it will be incurring losses, for its
marginal cost exceeds its marginal revenue beyond the equilibrium point B. The
same conclusions hold good in the case of a straight line MC curve as shown in
Figure 1. (B)
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In short run firms operating in perfect competition may
operate under following circumstances:-
BT H, gul ufaeqert § wrid BH Hrfafea aifefddl § wrf o gadl &:-

1) Losses. A firm in a perfectly competitive market will incur losses when
the market price is lower than its average total cost (AC), meaning the price it
receives for each unit sold does not cover the total cost of production per unit.

B (Losses): T TR Ho BH Pl ATd HoT A1Td (AC) T FHH BIdT 2, T BH B
eIt 21T | 28T 37ef T2 2 fob Udeh ThTS bl Talshl § U Hed 3T bl Ufd SebT
el T Dl e Tel oL UTdT |

P and cost MC ATC

A AVC

$2.73
$2.00 MR
Economic
Loss
» Q of rasberries
65
5) Normal Profit:-
EcnomicLoss =TC-TR
Ina =$2.73 x 65 - $2 x 65 perfectly
= $47.45
competitive market, a

firm will only earn "normal profit" in the long run; meaning they will only
make enough profit to cover their costs and not any additional economic
profit due to the free entry and exit of firms in the market. Supernormal
profit.

2) QHIRY @T:- T g0t Uideqelf IR |, Areiebiicid ©9 § fdl BH H1 haat
"HTHTRT " &1 UTed B ITT; Torarent 31ef & o6 BH deded 3TUHT @Il bl ORT ot foTHT
AT SBHT O 3R AR 3Tfeis @ TEl AT Gebil, diTes ST & BHT &b W
9T 3R e &7 giow gt 21
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6) Super Normal Profit:- A firm under perfect competition can only
earn supernormal profits in the short run, in this AC<AR; In the long run,
due to free entry and exit in the market, all firms will eventually only earn

normal profits.

U QR @M: JUT Ufdeaf & SidTid Bie BH e Sedhlie § 2 U 9TH1

AN FHT Thdl &, TP 39 TTRMTH AC < AR BT €1 SrHEA §, IR § Tds
ST 3 epTe b BT, Tt H 37dd: hered AT T & 3Tt BT |

4) Shut down point:- In perfect competition, a firm reaches its "shutdown
point" when the market price falls below the minimum point of its average
variable cost (AVC), but still it continue its operation in short run.

Ui gfqeqet §, ST ST Hed 68T BH <1 3T1Ed Uiedi dTd (AVC) & FAdA

frg & 19 R S77aT 2, a1 9% 319 "4 89 % g (Shutdown Point) TR Ugd ST 2,

Wi TR T o8
ST T 2|
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rice P2

P1

o

Q Q



The supply curve of the firm:-

The supply curve shows the relation between quantity supplied and market
price. Suppose, that a price is specified. Now we have to determine how much
each firm will be desirous of supplying. Next, a different price is specified and
quantity supplied is again determined—and we have to repeat the exercise
under all possible prices. For prices above AVC, the firm will equate price and
marginal cost in a competitive situation.

Thus, in perfect competition, the segment of the firm’s marginal cost curve that
is above the AVC curve is the price-taking firm’s supply curve. This point is
illustrated in Fig. 7.

ST b WA Y 3R TR e b ST Tt bl M 81 A wiorg o U
fafera e e man 1 319 B I Fuffia o © 1 udies wH ot W o1 smfd
T BT ZTTP BIMT| 2P 918, T i1 ge S foa v & o i smyfad 1 e
HET FetRa B STt 8 — 3R 6 38 Ukt B Tl TTed Jodil & fog et 8l
213 gl & Tl St 3tad ufadt @ (AVC) 8 BW Bl 8, ufaeqaiare ferfd §
WH et 3R T @ Bl aRTeR R el 2 |

8 UBR, qUT Tfaeqeri |, BH bl HIHid

- 5/ n, As________/_/s A e BT I8 HTTT ST AVC T2 & HI
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s b YA aep BT 21 38 g a1 o 7 8
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(i) Marginal cost and average (if) The supply curve

variable cost curves

Fig.7 : The Supply Curve for a Price-taking Firm

Here point Eo, where price po equals AVC, is the shut-down point. For prices
below Rs. 2, optimum output is zero, As prices rise from Rs. 2 to Rs. 3 to Rs. 4
to Rs. 5, the firm increases its production from qo to qi to 2 to gz. If, e.g., price
were Rs. 3, the firm would produce q; units because, by doing so, it would be
able to cover not only variable cost but also a portion of fixed cost.

Igl fdg ), <Tel Hrad Py 3ikga uRad-ar ama (AVC) & sR1eR 8idt 8, 5 fiig (Shut-down point) w&dTdT 1
IfE HIHd 22 J HH BT B, aY 317l 3T T BT 21 SR € hid 22 A 23, 4 3R 35 I dad! €, BH 37T
3IATEA qo A qq, TR gy 3R g5 T deT T 81 3TER0T & @Y, afe HIHd 23 8, O BH ¢ SHIAT BT 3T B
Fifs VIT B F g8 T had YRATTIT AT BT BaR B UTeT, Ffeehs fAfeId @NTd &7 U f5ar Mt a8 &= b |




The supply curve for a competitive industry

1s just the horizontal sum of the marginal cost

curves of all the individual firms belonging to
the industry. Fig. 8 shows that at a price of

| Rs. 3, firm A would supply 4 units and firm B

2 would supply 3 units.
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Fig. 8 : The Supply Curve for a Group of Firms

Simultaneous Equilibrium in Firm & Industry

In perfect competition, the simultaneous equilibrium of a firm and the industry
occurs when the individual firm produces at a quantity where its marginal cost
(MC) equals the market price (which is given to the firm), and the market price
is set at the point where the industry supply curve intersects the market demand
curve, resulting in a situation where no firm has an incentive to change its
output level and no new firms enter or exit the market, with all firms earning
only normal profits in the long run. This shown in diagram below
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In above diagram panel -1 & 2 represent firms & industry equilibrium
respectively

Practice MCQ

@ 1. Under perfect competition, in the long run, firms earn:

A) Supernormal profit
B) Normal profit

C) Loss

D) Abnormal loss

2~ Correct Answer: B) Normal profit

qui ufeEifar §, Sreferer § w1 & glar g
A) 3t

B) 9H ™

C) g

D) TR A
< A W B) AHRI
@ 2.1In perfect competition, price is determined by:

A) Individual seller
B) Individual buyer



C) Market forces of demand and supply
D) Government

Correct Answer: C) Market forces of demand and supply

qut wfaifiar & geg fuior gare:
A) S ferrTa farchar gRr
B) ST shell GRT
C) Wi 34 Argfet B IR S gRe
D) THR GR
T I C) WIT AR A B AR wrfrra grr

3. A firm in perfect competition is a:

A) Price taker

B) Price maker
C) Quantity setter
D) Monopoly

Correct Answer: A) Price taker

qui ufeaifar & wd g 2:

A) Ie AT& (Price taker)

B) Wﬁw (Price maker)
C) \rT fruis

D) THIIHR

ORI A) I T

@ 4.1In perfect competition, the demand curve faced by a firm is:

A) Downward sloping
B) Vertical

C) Horizontal

D) U-shaped

Correct Answer: C) Horizontal

qot wfa@ifirar & 1 R AT 6 SR STl JiT 96 2T 2
A) T BT 3R ST AT

B) AR

C) &fasr

D) J-3ATHR HT

FEA S C) AAfdsT



5. Which of the following is NOT a feature of perfect competition?

A) Homogeneous products

B) Free entry and exit

C) Price discrimination

D) Large number of buyers and sellers

Correct Answer: C) Price discrimination

FreferfEa 3 & w-ar gut ufaeifan S oo = 82
A) G969 IS
B) Wa9T 3R e 1 eisrar
C) T[T e
D) TR R fershareit b agt e
HE I C) I WHE

€ 6. Marginal Revenue (MR) under perfect competition equals:

A) Average Revenue (AR)
B) Price

C) BothA and B

D) Zero

Correct Answer: C) Both A and B

qui wfafiraT & €iwid S (MR) SRTSR 2t 2:
A) 3Ed 3 (AR)

B) T

C) A 3R B AL

D) I

- WEIW: C) A AR B AT

€ 7.1In perfect competition, short-run equilibrium is attained when:

A) MR =MC
B) AR=AC
C)TR=TC
D) MC =AC

Correct Answer: A) MR = MC

qui ufqEifirar § TEHT T a9 AT gidr ¢ o
A) MR =MC

B) AR =AC

C) TR =TC

D) MC =AC

eI A) MR = MC



@ 8. Perfect competition assumes:

A) Government regulation

B) Product differentiation

C) Perfect knowledge among buyers and sellers
D) Limited number of sellers

Correct Answer: C) Perfect knowledge among buyers and sellers

qui ufeaifar o €
A) T fREsor
B) Iate faferrar
C) @SR iR farsharen & sier ot At
D) Hifua fershar
FENSA: C) TSR TR Tshanstt & s qut SArer

@ 9.In perfect competition, the supply curve of the firm is its:

A) AVC curve

B) MC curve above AVC
C) AC curve

D) MR curve

.~ Correct Answer: B) MC curve above AVC

qut wfera T & e <t enafd ok 2t 2
A) NG IR AT 926 (AVC)
B) AVC % U I i AT aeh (MC)
C) A AT T (AC)
D) HiHTd 3 a6 (MR)

HEIIW: B) AVC & R B MC I6

€@ 10. Under perfect competition, the firm's demand curve is perfectly:

A) Elastic

B) Inelastic

C) Unitary elastic
D) Zero elasticity

Correct Answer: A) Elastic

qut wferai T & s <y JiT o6 2t @ guia::
A) T (Elastic)
B) CESic) (Inelastic)
C) THIHAE TTeiiett
D) I WEHATI ATt
HE I A) Tl



Monopoly/ THIfHER

A monopoly is a market structure where a single seller controls the entire supply of a
good or service, and no close substitutes are available. This gives the seller significant
market power to determine prices and output, often leading to reduced competition
and higher prices for consumers. Monopolies can arise due to legal barriers, natural
advantages, or technological superiority.

THTEBR (Monopoly) T TaT SR i € fraw ot a&g a1 ot 1 Syfd | Teae
TaIhdT &1 TR0 BT 2 31R 38 a%] AT JaT BT Blg Habe fodhed IucTe 7ol 2idT| 3HY
fIshdT Bl Hod 3R ST a8 & bl fa9Te Iferd Hetdt &, forad st et & &t
ST 8 3R SUMTRATSAT b oI BT &g ST & | TBTEIehR BT STl UTehfaes «ml ar
TFTehT ASAT & BROT A &1 Tl 2|

Why do monopoly Exist | THTFIBR Tt e B g?

Monopolies exist due to various factors that prevent competition in a market. These
factors create barriers that enable a single firm to dominate and control an entire
industry. Below are the key reasons, explained bilingually:

1. Legal Barriers (a?Ffﬁ TSITSITE:’)

Governments may grant exclusive rights through patents, copyrights, or
licenses to a single firm, preventing others from entering the market.

ISTEOT: 2RI & &5 § 9o, St pufa] &l Tam=r & foe ey srfger 2ar 2|



Natural Monopoly (ATHTd® THIIER)

Some industries, like utilities (electricity, water), require high infrastructure
costs, making it inefficient for multiple firms to operate.
IZTEIOT: ITd HT, STl W AT bl 19 et 2l 2 |

Economies of Scale aﬂr«r B BTWWT&)

A large firm can produce goods at a lower cost due to mass production, making
it difficult for smaller competitors to survive.
ISTEOT: TSI HY BT BUHAT |

Control Over Key Resources (W& 'Fi'FITﬂT-ﬁtl'{ﬁﬁsl'UT)

If a firm controls essential resources (like minerals or oil), it can prevent others
from accessing the market.
ITAOT: DI bl TSHI BT WTH |

Strategic Barriers RGeS 'GITHTE.?)

Large firms may engage in aggressive pricing, advertising, or exclusive
contracts to eliminate competition.

IZTEOT: UTSH IR 3R FifeT|
Technological Superiority (ﬁ@ﬁ?ﬁ | 2IgdT)

A firm with advanced technology can dominate the market by offering superior
products.

IEAT: THA1hT BY T Jecd? 11ed 1 dTed] HuaT|




Feature of Monopoly
1. Single Seller (T Terekam)

e In a monopoly, there is only one seller or producer of a product or service, and
there is no competition.

THITIHR | Faet T forhar a1 Ieaes 2 2, 3k B wiearst 78 2|
2. No Close Substitutes (?Iﬁ'é ﬁaﬂﬁm?ﬁ)

*  The product offered by the monopolist does not have close substitutes, making
the consumers dependent on the monopolist.

ferdar g et e T St feet e faresea @ Hert ghar 2, e soitera
I R FfrEa €

3. Price Maker (A Tritoresa)

e The monopolist has the power to set the price of the product as they have full
control over supply.

THTIBERATEN & U TS BT e i T b vife el & iifes o
e o gt e et T
4. High Barriers to Entry (3T ﬁaﬁraﬁnﬁ)

e New firms cannot easily enter the market due to legal, technological, or
financial barriers.

AQ GHT & TlQ BT, debiieht AT ferdiar STt & SRt SR H JaeT BT
FHiST AT

5. Profit Maximization (ST STfEeRdWeRIOT)

e The monopolist aims to maximize profits by controlling output and price
levels.

THIIHRAT IS IR e T B T fra ek Siferesan @ v & 1
AT AT B

6. Price Discrimination (e WEHT)



The monopolist may charge different prices for the same product to different

groups of consumers.

THIRIBRAT Tk B TS & g fafi= Soiert agl @ S1erT- 31T hiFa
TG TehaT 2|

7. Lack of Consumer Sovereignty (SUHTEFT Wﬁﬁ)

Consumers have limited choices and must accept the product and price set by

the monopolist.

TSN % T HfHa faeed 2 € o 3= Ui rRar! gRT a4 IdTE R
Hed B TR BT St

8. Controlled Supply (Fafia 31T'5lﬁrf)

The monopolist deliberately controls the supply to influence prices and

demand.

THTTEBRATE TR 3Yfd Bt Fraifid ST € qrfes e 31wt & i
Wb



